Greenhouse Style

CORPORATION

Installation & Assembly Manual
Freestanding & Straight-Eave Models

Toll Free: 1-800-665-2124 | Fax: 1-888-273-1251

www.greenhousestyle.com




Watch for the "Pro Tips" throughout the Manual for Tips & Tricks that our Professional Installers have picked up throughout the years.

REQUIRED TOOLS

(not included with greenhouse kit)

EVERY GREENHOUSE (HOBBY OR COMMERCIAL)

DISCLAIMER
This Instruction Manual is meant to be generic and cover as many facets of the Greenhouse Installation as possible.
Oddities or Customizations may not be covered in this Manual but will be detailed in the Job-Specific Drawings
that are shipped with the Greenhouse.

This Instruction Manual may appear daunting but please don't panic.

While the frame assembly process of each greenhouse is virtually identical regardless of the glazing type,
each glazing process is slightly different and they are all covered in this Manual.
Refer only to the sections that apply to the greenhouse you are assembling
and disregard the ones that don't.

« TAPE MEASURE
e LEVEL (min. 4')

* SET SQUARE

« #2 ROBERTSON (SQUARE) SCREW DRIVER

* #2 ROBERTSON (SQUARE) DRIVER BIT

e UTILITY KNIFE

o CORDLESS DRILL

e CAULKING GUN

« LATEX GLOVES or CAULK-SMOOTHING TOOIL
« STEP LADDER (2)

* =" NUT DRIVER
* " OPEN-ENDED WRENCH

« 3" CONCRETE DRILL BIT (if applicable)

» LIGHT SOAPY WATER (in a spray-bottle)

*LARGE FLAT BLADED SCREW DRIVER (Storefront Door)
*3MM ALLEN KEY (Storefront Door)

GREENHOUSES OVER: 14' IN LENGTH or WIDTH (COM MERCIAL)

« 2" WOOD DRILL BIT (wood foundation)
« 1" WOOD DRILL BIT (wood foundation)
=" CONCRETE DRILL BIT (concrete foundation)
. W.. CONCRETE DRILL BIT (concrete foundation)
e 2" SOCKET
« 2" OPEN ENDED WRENCH
* 3" SOCKET
* HAMMER

OPTIONAL TOOLS
e SUCTION CUPS (6mm Single Glass & 16mm Double Glass Models)
e SCAFFOLDING

NOT RECOMMENDED TOOLS

* IMPACT WRENCH / DRIVER

COMMON ABBREVIATIONS YOU MAY SEE IN YOUR JOB-SPECIFIC DRAWINGS

| " | 1 " | | n |

_ * _ _ * _ _ X _

[ | | |

SQ-5Q or SQ (SQUARE) SQ-LP (SQUARE - LONG POINT) SQ-SP (SQUARE - SHORT POINT)
STRAIGHT CUT ON BOTH ENDS STRAIGHT CUT ON ONE END, STRAIGHT CUT ON ONE END,
ANGLE CUT ON THE OTHER ANGLE CUT ON THE OTHER

SP-SP (SHORT POINT - SHORT POINT)
ANGLE CUT ON BOTH ENDS

LP-LP (LONG POINT - LONG PQINT)
ANGLE CUT ON BOTH ENDS

LP-SP (LONG POINT - SHORT POINT)
ANGLE CUT ON BOTH ENDS

TECHNICAL SUPPORT

BC Greenhouse Builders is located in Surrey British Columbia, Canada.
If your Dealer or Salesperson is unable to assist you, feel free to contact us directly.
Monday to Friday, 9am to 5pm Pacific Time.
Local (604)-882-8408 or Toll Free 1-888-391-4433
email: techsupport@bcgreenhouses.com

If calling after business hours, leave a message with our answering service
and somebody will get back to you as soon as we are able.




TABLE OF CONTENTS

STAGE # ACCESSORY/ UPGRADE GLAZING TYPE PAGE #
ACCESSORIES ROOF VENT INSTALLATION ALL ACC.1
ACCESSORIES ROOF VENT ASSEMBLY 6MM TWINWALL POLYCARBONATE ACC 2A-2B
ACCESSORIES ROOF VENT ASSEMBLY 16MM SWALL POLYCARBONATIE ACC. 3A-3B
ACCESSORIES ROOF VENT ASSEMBLY 3MM SINGLE GLASS ACC. 4A-4B
ACCESSORIES ROOF VENT ASSEMBLY 6MM SINGLE GLASS ACC. 5A-5B
ACCESSORIES ROOF VENT ASSEMBLY 16MM DOUBLE GLASS ACC. 6A-6B
ACCESSORIES SIDE DIAGONAL BRACES - STANDARD ALL ACC.7
ACCESSORIES SIDE DIAGONAL BRACES - COMMERCIAL ALL ACC.8
ACCESSORIES COMMERCIAL TRUSS ALL ACC. 9A-9D
ACCESSORIES COMMERCIAL BRACING (STANDARD) ALL ACC. 10A-10B
ACCESSORIES COMMERCIAL BRACING (INTERLOCKEIDD) ALL ACC. 11A-11B
ACCESSORIES STOREFRONT DOORS ALL ACC. 12A
ACCESSORIES D-PULL HANDLES - STOREFRONT DOORS ALL ACC. 12B
ACCESSORIES SINGLE SIDE VENTS ALL ACC. 13A-13B
ACCESSORIES INTAKE SHUTTERS ALL ACC. 14
ACCESSORIES EXHAUST FANS POLYCARBONATE & 3MM GLASS ACC. 15
ACCESSORIES EXHAUST FANS 6MM SINGLE GLASS & 16MM DOUBLE GLASS | ACC. 16A-16B
ACCESSORIES LOUVRES 3MM & 6MM SINGLE GLASS ACC. 17
ACCESSORIES LOUVRES POLYCARBONATE & 16MM DOUBLE GLASS ACC. 18
ACCESSORIES JOINERS 16MM DOUBLE GLASS ACC. 19
ACCESSORIES JOINERS 6MM SINGLE GLASS ACC. 20
ACCESSORIES GABLE ATTACHMENT ALL ACC. 21A-21B

STAGE # STAGE GLAZING TYPE PAGE #
1 BASES ALL 1
2 CORNER POSTS ALL 2
3 DOOR FRAME (STORM) ALL 3-4
4 GABLE HORIZONTAL BRACES ALL 5
5 GABLE GLAZING BARS ALL 6
6 GUTTERS ALL 7
7 SIDE GLAZING BARS ALL 8
8 END RAFTERS ALL 9
9 RIDGE ALL 10
10 TRUSS ALL 11-14
11 PURLINS ALL 15
12 ROOF GLAZING BARS - UNDER RIDGE ALL 16
13 VENT FRAME BOTTOMS ALL 17
14 ROOF GLAZING BARS - UNDER VENT ALL 18
15 ROOF GLAZING & CAPS 6MM TWINWALL POLYCARBONATE 19-22
16 SIDE WALL GLAZING & CAPS 6MM TWINWALL POLYCARBONATE 23-27
17 GABLE GLAZING & CAPS 6MM TWINWALL POLYCARBONATE 28-31
18 SEALING 6MM TWINWALL POLYCARBONATE 32
19 FOIL TAPES 16MM SWALL POLYCARBONATE 33-34
20 ROOF GLAZING & CAPS 16MM SWALL POLYCARBONATE 35-39
3 SIDE WALL GLAZING & CAPS 16MM SWALL POLYCARBONATE 40-43
22 GABLE GLAZING & CAPS 16MM SWALL POLYCARBONATE 44-48
23 SEALING 16MM S5WALL POLYCARBONATE 49
24 GLASS OVERLAPS 3MM SINGLE GLASS 50
25 ROOF GLAZING & CAPS 3MM SINGLE GLASS 51-53
26 SIDE WALL GLAZING & CAPS 3MM SINGLE GLASS 54-56
27 GABLE GLAZING & CAPS 3MM SINGLE GLASS 57-61
28 SEALING 3MM SINGLE GLASS 62
29 ROOF GLAZING & CAPS 16MM DOUBLE GLASS 63-67
30 SIDE WALL GLAZING & CAPS 16MM DOUBLE GLASS 68-71
31 GABLE GLAZING & CAPS 16MM DOUBLE GLASS 72-76
32 SEALING 16MM DOUBLE GLASS 77
33 ROOF GLAZING & CAPS 6MM SINGLE GLASS 78-81
34 SIDE WALL GLAZING & CAPS 6MM SINGLE GLASS 82-85
35 GABLE GLAZING & CAPS 6MM SINGLE GLASS 86-89
36 SEALING 6MM SINGLE GLASS 90
37 STORM DOOR INSTALLATION (SINGLE) ALL 91

Version 3.5




Page #1

*WARNING*
-FOUNDATION MUST BE LEVEL -
An off-level foundation will make glazing the greenhouse difficult
(or impossible) later on on in the installation process.

There is a small level of tolerance built into the greenhouse (approximately /4" H

Pre-drilled
If your greenhouse has Side Vents, refer to Page ACC13A
(Side Vent Installation) at the rear of the manual before
beginning the frame assembly.

The Rough Opening in your foundation is different
than the Door Opening between your bases.

__ (Between 1" & £" depending on the door size)

(STAGE 1: BASES )

3

STEPS:
1. APPLY A BEAD OF CAULKING TO UNDERSIDE OF FRONT BASE FOR ENTIRE LENGTH OF BASE.

2. PLACE FRONT BASE ON FOUNDATION. ENSURE DOOR OPENING IS CORRECT™.

3. FASTEN FRONT BASE TO FOUNDATION WITH 1% #10 S.S. SCREW**

4. SEAL HEAD OF SCREW WITH CAULKING.

5. REPEAT STEPS 1to4 FOR SIDE BASES & BACK BASES

6. APPLY CAULKING TO SEAM WHERE BASES BUTT TOGETHER.

7. TOOL CAULKING WITH A SOAPY GLOVED FINGER OR A CAULK-SMOOTHING TOOL.,

5 Plan View

90°

=

D

EQUAL
DISTANCE

All Bases are pre-drilled
for fastening to foundation.

Base Screw with
Concrete Plug

Front Bases are pre-punched for door frame
(Storm Door iflustrated)

" Refer to the job-specific drawings provided for your precise door opening.
Front & Back Gable Base @ Corner Side Base (1"x 2" Angle) @ Corner * For concrete foundations, drill through the pre-punched holes in the base using a 3" concrete bit.
° Lightly twist concrete plugs onto the end of the 13" screw before inserting into hole and tightening screw.

Parts List:
= : : - CROSS COUNTRY
— o [TEGOER)— \=] GREENHOUSES
Front Gable Base (1°x 2" Angle] Back Gable Base (1"x 2" Angle) Side Base (1"x 2" Angle) #10 x 13" 5.5. Screw Concrete Plug Caulking

ALl Glozing Types ALL Glazing Types ALl Glozing Types (if applicable) HOBBY AND CUSTOM




Page #2

PRO TIPS

R

1
Foam —
Tape
»_, Apply Foam Tape to all Glazing Bars in advance
Eoaiti to save yourself time during installation.
Foam Foam Tape (Just make sure you don't mix up your pieces)
Tape Tape P
(STAGE 2: CORNER POSTS)
2
STEPS: Typical Corner Post
1. APPLY FOAM TAPE TO PRE-ATTACHED GLAZING BARS.
2. PLACE CORNER POST ON TOP OF BASE AT ONE CORNER.
3. CONNECT CORNER POST TO BASES. E M
REPEAT FOR ALL CORNERS. i — T T
Angle Cut Left to Right
on top.
3
5 Square Cut
° 5 on bottom.
2 2
Interior View | Interior View
(il >
5 3
3 &
Exterior View ALL GLAZING BARS ARE NOTCHED
FOR INSERTING BOLT HEADS
Parts List:
S CROSS COUNTRY
2 Vo] GREENHOUSES
Corner Post Corner Post Corner Post Corner Post Corner Post Foam Tape 4" x%"S.S. Bolt & Nut HOBBY AND CUSTOM

(3mm Single Glass) (6mm Twinwall Poly.) ~ (6mm Single Glass) (16mm Fivewall Poly.) (16mm Double Glass)




Page #3

(STAGE 3A: DOOR FRAMEE )

STEPS:

*DOOR FRAME PACKAGES ON 16MM DOUBLE GLASS &
SWALL POLYCARBONATE GREENHOUSES WILL
CONTAIN (2) LONG H-CHANNELS.

RETAIN THESE FOR GLAZING LATER ON IN THE
p 0 INSTALLATION PROCESS.

INTERIOR VIEW

L)

If installing a Storefront Door, refer to Page #ACC 12A in the Accessory section of this manual.

1. CONNECT TOP DOOR PLATES TO 1" x 2" ANGLE HEADER.
2. CONNECT SHORT DOOR FRAME BAR TO HEADER & TOP DOOR PLATE.

3. CONNECT BOTTOM DOOR PLATES TO BASE.

TURN TO NEXT PAGE.

INTERIOR VIEW

=

B o
(Tt

o Y

[o o Y
0o

[e = Y]

_,n [} ]
,5/.“

INTERIOR
=5

EXTERIOR

Door Frame
Interior View Exterior View
INTERIOR VIEW
@ ™
! - o Q
_: _ Exterior View
Interior View DOOR FRAME BARS ARE NOTCHED
FOR INSERTING BOLT HEADS
hQﬁﬂh h....wﬂ. & 0 o _ Top View _ @
- __ et 3"x3"5.5. Bolts & Nuts S CROSS COUNTRY
5 o e o 4 o] Exterior View g V=) GREENHOUSES
v s o U o__o Y]
Door Frame Door Frame Top Door Plate Bottom Door Plate 1" X 2" Angle Door Header 3" x3"S.S. Bolts & Nuts® HOBBY AND CUSTOM
x 2 (Long) x 1 (Short) x2 x2 x1




Page #4

(STAGE 3B: DOOR FRAME )

STEPS:
4. CONNECT LONG DOOR FRAME BARS TO BOTTOM DOOR PLATES

& SET TO APPROPRIATE DOOR DROP.*
5. CONNECT HEADER ASSEMBLY TO LONG DOOR FRAME BARS.

*DOOR DROP

BASE & DOOR FRAME SIT FLUSH
ON TOP OF FOUNDATION.
DOOR DROP =0"

BASE SITS FLUSH ON TOP OF FOUNDATION.
DOOR FRAME DROPS INTO DOOR OPENING.
FOUNDATION HEIGHT = DOOR DROP
LEFT & RIGHT SIDES MUST BE EQUAL
AND MATCH JOB-SPECIFIC DRAWINGS

& GREENHOUSE ORDER.

TOP VIEW

INTERIOR VIEW

INTERIOR VIEW

INTERIOR

L=l
EXTERIOR

Door Frame

" x 3" 5.5. Bolts & Nuts

" x 3" 8.5. Bolts & Nuts

X__ X__
H ' if Diagonal Braces connect if Diagonal Braces connect
8 S TR to Door Frame to Door Frame BT
INTERIOR VIEW
DOOR FRAME BARS ARE NOTCHED
FOR INSERTING BOLT HEADS
Parts List: Top View &
- o O
o [ 11 x4"S.S. Bolts & Nuts ) CROSS COUNTRY
oo exeror v , 2 V| GREENHOUSES
Ucmm%ﬁn&m boHoWﬂaﬂm Top Uowﬁ Plate Bottom __u..mon__1 Plate 1"X 2" Angle Hcooﬂ Header 11x3"5.5. Bolts & Nuts® HOBBY AND CUSTOM
x 2 (Long, X or X X X




Page #5

If your Greenhouse has Commercial Bracing
(Vertical Posts and/or Interlocked Horizontal Braces)
proceed to the appropriate "Commercial Bracing" Instruction
in the Accessories Section of the Manual

mm.\.bmm 4: GABLE HORIZONTAL mmbﬁmmu

STEPS:

1. CONNECT HORIZONTAL BRACE TO CORNER POST ON DOOR END GABLE.*®
2. CONNECT HORIZONTAL BRACE TO DOOR FRAME.

3. REPEAT STEPS 1 & 2 ON OPPOSITE SIDE OF DOOR.

4. CONNECT HORIZONTAL BRACE TO CORNER POSTS ON OPPOSITE GABLE.®

Correct heights for your Horizontal Braces
will be indicated on your
Job specific drawings.

Top View Side View
2
g
om
LT
v
Front
Horizontal Brace
Gable
Base
A|—
Top View Side View
Front
Horizontal Brace |<|
Gnble ==— Door Frame
Bose
.W Top View
¥
g
£ @
3
[y
Front Horizontal Brace
Horizontal Brace
Door Gable Gable
Frame “ Base Base
h Top View
Gable Gable
Base Base
Back Back
Horizontal Brace Horizontal Brace
3 @
g o
oo o
L L7
= =
A A

® Refer to the job-specific drawings provided
for the recommended brace height .

Parts List:

Typical Horizontal Brace options:

A e O e B :

1"x 2" Angle 1" x 2" Channel 1" x 3" Channel 13" x 3" Channel
(illustrated)

41 x1"5.S. Bolts & Nuts

&

4" x3"5.S. Bolts & Nuts
(only on 13" x 3" Channel)

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

_ a




Page #6

@E GE 5: GABLE GLAZING %mmu

STEPS:

1. APPLY FOAM TAPE TO GLAZING BARS.

2. ARRANGE GLAZING BARS IN ORDER.

3. ATTACH THE FIRST GLAZING BAR TO THE BACK BASE / HORIZONTAL BRACE & REPEAT.
4. ATTACH ANY REMAINING HORIZONTAL BRACES (IF APPLICABLE).

5. REPEAT STEPS 3 & 4 FOR OPPOSITE END.

Exterior View

Interior View

)

Exterior View

Foam Tape

Foam Tape Foam Tape

v

Apply Foam Tape to all Glazing Bars in advance
to save yourself time during installation.
(Just make sure you don't mix up your pieces)

Correct heights for your Horizontal Braces
will be indicated on your
job specific drawings.

Typical Gable Glazing Bar

3

Corner Post -
from Stage 2

Horizontal Brace
from Stage 4

e

Gable
Base

Top View

Angle Cut Left to Right
on top.

Horizontal Brace

=

Straight Cut
on bottom.

Top View

Corner Post

Horizontal Brace

from Stage 4 \

Door Frame

from Stage 3

=

Interior View from Stage 2
Exterior View ALL GLAZING BARS ARE NOTCHED
FOR INSERTING BOLT HEADS
S CROSS COUNTRY
- e g Q=] GREENHOUSES
Glazing Bar Glazing Bar Glazing Bar Glazing Bar Glazing Bar HOBBY AND CUSTOM

(3mm Single Glass) (6mm Twinwall Poly.) (6mm Single Glass) (16mm Fivewall Poly.)

(16mm Double Glass)

Foam Tape

1 x m: S.S. Bolts & Nuts




Page #7

PRO TIPS
: )
Gutter 7
@ Make sure you have your gutters orientated
in the right direction.
\.\\
(STAGE 6: GUTTERS )
Corner Post —=
STEPS:
1. LOWER ONE GUTTER ONTO THE CORNER POSTS.* BT ¥
2. SECURE GUTTER TO CORNER POSTS.
REPEAT STEPS 1 & 2 FOR OPPOSITE GUTTER. i
_u Side Base 0 J—
Side View .
Side View Interior View
Interior View
fJ
2
e
/
A
u“\
] Q | e g |
Exterior View
N —> =
s L pe |
Side View Interior View
Interior View
*On greenhouses over 12'in length, install one or two Side Wall Glazing Bars
near the middle of the greenhouse to prevent the Gutters frorm sagging.
Parts List:
S CROSS COUNTRY
2 Vo] GREENHOUSES
Gutter Gutter Gutter Gutter 3" x3"S.S. Bolts & Nuts HOBBY AND CUSTOM
(2.5 /12 Slope) (5/ 12 Slope) (8.5 /12 Slope) (12 / 12 Slope)




Page #8

H Foam Tape Foam Tape Foam Tape
2
(STAGE 7: SIDE GLAZING BARS )
STEPS: N N n Q
1. APPLY FOAM TAPE TO GLAZING BARS. L) i
2.CONNECT REMAINING SIDE GLAZING BARS TO BASE & GUTTER.
(GLAZING BAR SHOULD BE TIGHT TO BASE & GUTTER) Typical Side Wall Glazing Bar
REPEAT FOR OPPOSITE SIDEWALL. ., ., - - =
Side View v v
N N
=t Side View ﬁ.-m U v m-.A
- ’ ] i Angle Cut Back to Front
Interior View on lop.
ﬁ- ; Square Cut
on bottom.
@ ® ® Q)
> > >
.1-@ @ ® n-J.
Exterior View
Interior View

A S S BN ] @ _m cross couy

Glazing Bar Glazing Bar Glazing Bar Glazing Bar Glazing Bar HOBBY AND CUSTOM

dw , 1n
(3mm Single Glass) (6mm Twinwall Poly.) (6mm Single Glass)  (16mm Fivewall Poly.)  (16mm Double Glass) Foam.Tape 7' x3"5.5. Bolts & Nuts




Page #9

(STAGE 8: END RAFTERS )

STEPS:

1. APPLY FOAM TAPE TO END RAFTER GLAZING BARS.
2. PLACE THE END RAFTER ON TOP OF THE GABLE GLAZING BARS.

3. SLIDE END RAFTER DOWN UNTIL IT FITS OVER GUTTER AND
SECURE TO ALL BARS EXCEPT THE CENTER BAR (IF APPLICABLE) .

REPEAT STEPS 2 & 3 FOR REMAINING END RAFTERS.

Exterior View

Exterior View

Interior View

Interior View

Exterior View

1

Foam Tape Foam Tape Foam Tape

Interior View

Leave a gap of approximately 5" to 1" where the
End Rafters meet so that the Ridge will fit between.
You can tighten the gap once the Ridge is installed.

Interior View

2,

Typical End Rafter

Angle Cut Top to Bottom
on top.

7

Angle Cut Top to Bottom

(3mm Single Glass)

(6mm Twinwall Poly.)

(6mm Single Glass) (16mm Fivewall Poly.)

(16mm Double Glass)

on bottom.
Parts List: Mjﬁ %
g { | , CROSS COUNTRY
| 1 A h 1 1 2 ) CReENHOUSES
End Rafter End Rafter End Rafter End Rafter End Rafter Eodinh Tape 3% x 4" 5.5. Bolts & Nuts HOBBY AND CUSTOM




Page #10

(STAGE 9: RIDGE )

STEPS:

1. SLIP THE RIDGE IN BETWEEN THE END RAFTERS AT ONE END
OF THE GREENHOUSE THROUGH THE SLOTS CUT INTO THE END RAFTER.
2. SECURE THE RIDGE TO THE END RAFTERS w/ (2) BOLTS & NUTS &
SECURE END RAFTERS TO THE PEAK BAR w/ (1) BOLT, NUT & WASHER.
(ENSURE THAT THE END RAFTER IS TIGHT TO THE RIDGE)

REPEAT FOR THE OPPOSITE END

Interior View

Exterior View

To make this step easier, position a ladder on each
end of the greenhouse and work with a partner.

NO NO

AN\

Parts List:

5/12 Ridge

8/ 12 Ridge
(3mm Single Glass) (3mm Single Glass)

12 /12 Ridge
(3mm Single Glass)

Ridge (8.5 / 12 illustrated)
(6mm Twinwall Poly or 6mm Single Glass)

Ridge (8.5 / 12 illustrated)
(16mm Fivewall Poly or 16mm Double Glass)

e

7"x3"S.S. Bolts & Nuts

©

Washer

CROSS COUNTRY
_ m GREENHOUSES

HOBBY AND CUSTOM




Page #11

@EQm 10A: TRUSS (if anznac\m@

STEPS:

TURN TO NEXT PAGE
Back View

Front View

1. PLACE ONE TRUSS POST BESIDE THE APPROPRIATE SIDE GLAZING BAR.”

2. CONNECT THE SIDE WALL CLEAT TO THE SIDE GLAZING BAR w/ 3" x 3" BOLTS & NUTS.
3. REPEAT STEPS 1 & 2 FOR THE OPPOSITE SIDE,

Y|

Front View

Foundation Cleats

Side Glazing Bar —=

PRO TIPS

Truss Post

_ d] Y
Side Base
— — The Truss on every model of greenhouse is
Side View slightly different. Refer to your Job Specific

drawings frequently during this stage.

Side Base

Top View

Back View

§
§
y

Front View Front View

h
A ARRRRRRRRAAN

Front View Top View

)

v
&
o
=
B
o
I
o
-+
Q|
o

Top View

Front View

Front View

If your Truss looks similar to this,
refer to the "Commercial Truss" Instruction

in the Accessories Section of the Manual

Parts List:

(Typical non-commercial Truss)

I T Y | ==

7 2

Corner Plates (1 pair) 1" x1"5.S. Bolts & Nuts (x 4)

[T m__ ==

Truss Post (x 2) Top Chord (x 2)

Collar Tie (x 1)

dn ., 30
Peak Plates (x 1) i x7'S.S.

¥

Bolts & Nuts (x 2)

©

4" Washer (x 2) m — m

CROSS COUNTRY
GREENHOUSES

31y 13" 5.5, Bolts & Nuts (x 20) HOBBY AND CUSTOM




Page #12

mﬂﬁmm 10B: TRUSS (if be:nnimw

STEPS:

4. ATTACH CORNER PLATES TO POSTS w/ 2" x 13" BOLTS & NUTS.

REPEAT FOR THE OPPOSITE SIDE.

5. ATTACH THE PEAK PLATE TO THE RIDGE
w/ 3" x 2" BOLTS, NUTS & WASHERS.

6. ATTACH ONE TOP CHORD TO THE CORNER PLATE w/ £" x 13" BOLTS & NUTS.

7. ATTACH THE TOP TOP CHORD TO THE PEAK PLATE w/ 2" x 13" BOLTS & NUTS.
8. REPEAT STEPS 6 & 7 FOR THE OPPOSITE SIDE.

TURN TO NEXT PAGE

Il:‘- |

a

Front View

Side View

more than finger-tight. You may have
to adjust the truss as you progress.

6

!_S

Parts List:

{Typical non-commercial Truss)

I T xx | (oo

I ol x| ==

Truss Post (x 2) Top Chord (x 2)

Collar Tie (x 1)

7\

Corner Plates (1 pair)

Peak Plates (x 1)

2

1"x4"5.S. Bolts & Nuts (x 4)

.w____ XM: ,m..m

¥

Bolts & Nuts (x 2)

©
1" Washer (x 2)

2"x 13" S.5.

Bolts & Nuts (x 20)

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

_ a




Page #13

PRO TIPS

\

Do not use an Impact Driver when tightening
\vour truss fasteners as it can cause the nuts fo seize.

@Emm 10C: TRUSS (if nnn:nngm@

o] Flat Side Open Side B
STEPS:

9. ATTACH THE COLLAR TIE TO THE TOP CHORDS w/ £ x 14" BOLTS & NUTS.
10. VERIFY THAT TRUSS WIDTH IS EQUAL AT THE BASE AND GUTTER . ‘
& MATCH JOB SPECIFIC DRAWINGS. Side View

ONCE WIDTHS ARE EQUAL, TIGHTEN ALL BOLTS.

[
[

x:

[
i1

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

Truss Post (x 2) Top Chord (x 2) Collar Tie (x 1) 1"x3"s.S. Bolts & Nuts (x 2) 2" x 15" S.5. Bolts & Nuts (x 20)

_ualm:mn
mﬂtu_.nn__zo:.noaﬁms_uﬁﬂEm& ‘ 4 @ @
B E.:__:. ‘ :‘\ ﬁOﬁ:mﬁ_U.__me_m:tQ...Q w: kw: M.m.momﬂm%?.tmmﬁk@w m: S\szmﬁ\xmy m m
peak Plgtes (x 1)




Page #14

STAGE 10D: TRUSS ANCHORING (if applicable)

VERTICAL POST ANCHORING (if applicable)

%"DIAMETER ANCHOR BOLT = %" DIAMETER HOLE

Z

Wood Foundation
STEPS:

12. DRILL A HOLE IN FOUNDATION USING EXISTING HOLES IN TRUSS CLEAT AS A PILOT.

13. FASTEN TRUSS TO FOUNDATION w/ LAG BOLTS & WASHERS.

Lag Bolt — <=— Lag Bolt

=

Washer—= = Washer

Base

< | <—— comm—]]

Side View

Top View
"DIAMETER ANCHOR BOLT =" DIAMETER HOLE

Refer to you Job Specific Drawings
for your exact Anchor Dimensions.

Concrete Foundation
STEPS:
12. DRILL A HOLE IN FOUNDATION USING EXISTING HOLES IN TRUSS CLEAT AS A PILOT.
13. ATTACH NUT & WASHER TO ANCHOR.
14. HAMMER ANCHOR INTO FOUNDATION.
15. TIGHTEN NUTS.

Nut —= o

! e

Washer— = 3

,_\ —ne
b:nrca|w'_

Base

Top View

Base e Base

Side View

%"DIAMETER ANCHOR BOLT = %" DIAMETER HOLE
%" DIAMETER ANCHOR BOLT = }," DIAMETER HOLE

Parts List:

(Typical non-commercial Truss)

Lag Bolt & Washer

1 |

Concrete Anchor w/ Nut & Washer

CROSS COUNTRY

_ m GREENHOUSES

HOBBY AND CUSTOM




Page #15

(STAGE 11: PURLINS )

STEPS:

1. MOVE PURLIN INTO APPROXIMATE POSITION BELOW END RAFTERS (BUT ABOVE TRUSS).*

2. INSERT APPROPRIATE BOLT INTO THE TRACK ON THE UNDERSIDE OF THE END RAFTER &
CONNECT THE PURLIN TO THE END RAFTER. (REPEAT FOR BOTH ENDS)

R

Not all greenhouses have Purlins and some
have many. Refer to your job-specific drawings
for the Purlin Type and Quantity that applies to your
exact greenhouse.

3. CONNECT PURLIN TO TRUSS TOP CHORD (IF APPLICABLE) 9
REPEAT FOR REMAINING PURLIN(S)
* Proper Purlin location is indicated on your job -specific drawings, generally
as a measurement from the Ridge to the center of the Purlin. If your greenthouse
has a Truss, the correct Purlin location can also be determined by the location
of the holes drilled in the uppermost surface of the Truss Top Chord
Parts List: o)

Tvpical Purlin Options

__ _ b=t
4 x1"s.S. Bolts & Nuts :|=

1"x 2" x 3" Channel (Purlin) (Connecting to End Rafters) 1"x 3"xg" Channel (Purlin)

1"x1"S.S. Bolts & Nuts

{Connecting to End Rafters)

¥

4"x 2"5.S. Bolts & Nuts

{Connecting to Truss)

-

14" x 3" x =" Channel (Purlin)

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

3"x3"S.S. Bolts & Nuts 3"x 13" 5.5. Bolts & Nuts

{Connecting to End Rafters) {Connecting to Truss)

m _ 2




Page #16

mm.gm.m 12: ROOF GLAZING BARS - UNDER EDQmU

STEPS:

1. APPLY FOAM TAPE TO ALL GLAZING BARS .

2. ATTACH GLAZING BAR WITH VENT SLIDER #1 TO THE
CORRESPONDING SPOT #1 ON THE RIDGE, PURLIN & GUTTER .
(Purlin & Gutter will not be numbered)

REPEAT FOR REMAINING GLAZING BARS WITH VENT SLIDERS
3. ATTACH GLAZING BARS WITHOUT VENT SLIDERS TO RIDGE, PURLIN & GUTTER

REPEAT FOR ALL REMAINING GLAZING BARS THAT CONNECT TO RIDGE.

Parts List:

Glazing Bar
(3mm Single Glass)

&N

The Roof Vent Slider m....mmmﬁm will come pre-attached
to the Roof Glazing Bars. Do not remove them.

H Foam Tape Foam Tape Foam Tape
Foam Tape Foam Tape Foam Tape
Vent Vent Vent
Slider Slider Slider
[ Stop taping @ Vent Slider]
Vent Slider
Foam
Tape
Top View
2
3

Typical Glazing Bar
(Under Ridge)

Angle Cut Top to Bottom
on top.

Square Cut
on bottom.

On Greenhouses with 6mm or 16mm Glazing in the roof,
the Roof Glazing Bars that fasten to the Ridge and do not have
Vent Sliders attached will have a notch cut out of the top end.

L £y

Glazing Bar w/ Slider
(3mm Single Glass)

Glazing Bar
(6mm Twinwall Poly.)

Glazing Bar
(6mm Single Glass)

Glazing Bar w/ Slider
(6mm )

Glazing Bar

(16mm Fivewall Poly.)

Glazing Bar

(16mm Double Glass)

Glazing Bar w/ Slider
(16mm )

Foam Tape

2

2" x3"S.S. Bolts & Nuts

CROSS COUNTRY
V-| GREENHOUSES

HOBBY AND CUSTOM




Page #17

@E GE 13: VENT FRAME moioimu

STEPS:

1. FIT THE VENT FRAME BOTTOM BETWEEN THE ROOF GLAZING BARS
WHICH HAVE VENT SLIDERS ATTACHED.

2. SLIDE THE VENT FRAME BOTTOM TOWARDS THE RIDGE UNTIL IT IS TIGHT
TO THE VENT SLIDERS.

3. SECURE THE VENT FRAME BOTTOM TO THE GLAZING BARS.

Vent Slider

Vent Frame Bottom

Interior View Vent Slider

Vent Slider
Vent Frame Bottom

Vent Frame Bottom

Vent Frame Bottoms have been installed.

haﬁﬂh —-....MH... Top View
_c )
Vent Frame Bottom Vent Frame Bottom Vent Frame Bottom Vent Frame Bottom Vent Frame Bottom Vent Frame Bottom
(3mm Single Glass)  (6mm Twinwall Poly.) (6mm Single Glass)  (16mm Fivewall Poly.)  (16mm Double Glass) x1

CROSS COUNTRY
W-| GREENHOUSES

HOBBY AND CUSTOM

e

3" x4"S.S. Bolts & Nuts




Page #18

PRO TIPS

Foam Tape Foam Tape Foam Tape

Smile. You never know who's watching.

mm.\.bmm 14: ROOF GLAZING BARS - UNDER ..\mZ.ﬁv 2

STEPS: ,

1. APPLY FOAM TAPE TO ALL GLAZING BARS . Venuslider -

2. ATTACH GLAZING BAR TO VENT FRAME BOTTOM, PURLIN & GUTTER _. Typical Glazing Bar
(Under Vent)

REPEAT FOR ALL REMAINING GLAZING BARS.

IF YOUR GREENHOUSE HAS SIDE WALL DIAGONAL BRACES, INSTALL THEM NOW
BEFORE STARTING ON THE GLAZING INSTALLATION.
REFER TO PAGE ACC 7-8 AT THE BACK OF THIS MANUAL IF APPLICABLE.

Square Cut
on top.

Square Cut
on bottom.

On Greenhouses with 6mm Glazing in the roof,
the Roof Glazing Bars below the Roof Vent
will have a notch cut out of the top end.

Parts List:

¥ S L 3 A : _m

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

Glazing Bar Glazing Bar Glazing Bar Glazing Bar Glazing Bar

Fi Tt I 1n
(3mm Single Glass) ~ (6mm Twinwall Poly.) ~ (6mm Single Glass)  (16mm Fivewall Poly.)  (16mm Double Glass) amape 7' x3"5.5. Bolts & Nuts




Page #19

A___________
I I

Back
Front

________“__V

Peel paper from
Foam Tape

GLAZE & CAP THE ROOF IN ORDER FROM BACK TO FRONT AND THEN FRONT TO BACK.
COMPLETE ONE SIDE BEFORE EEGINNING THE WEXT, N

STAGE 15A: ROOF GLAZING -
(6MM TWINWALL POLYCARBONATE)

i
o

e
O¢fm m.,/ay

@

STEPS: .W
1. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE ROOF GLAZING BARS .

2. MARK ONE OUTSIDE CORNER OF THE POLYCARBONATE PANELS WITH A FELT PEN.
3. PEEL THE FILM OFF BOTH SIDES OF THE POLYCARBONATE PANEL.

4. PLACE THE H-CHANNEL ONTO THE BOTTOM OF A POLYCARBONATE PANEL

CONTINUE ON NEXT PAGE

N

If using a cordless drill to fasten the Caps, set your drill to a low Torque Setting.

Screws should be snug to the cap plus a quarter tum.

Inside

Outside

Have one person working outside the greenhouse
and one on the inside to help fit the
polycarbonate panels into the Ridge.

Typical Polycarbonate
(Roof)

Square Cut
on top.

Square Cut
on bottom.

*WARNINGS*
- DO NOT STORE POLYCARBONATE PANELS IN DIRECT SUNLIGHT-
The Plastic Film can melt onto the panels if they get too hot.
-DO NOT LAY POLYCARBONATE PANELS DIRECTLY ON THE GRASSH
Doing so can burn / kill the grass

Due to circumstances beyond our conirol, the polycarbonate
may not have Blue Film identifying the outside surface.
In this situation, the outside surface will by identified with Text.

On hot days, you may find that the Glazing Foam is too sticky.
Spraying the foam with a light soapy water will make
installing the Polycarbonate easier,

Polycarbonate Panels, Glazing Caps & h-Channels
will come packaged specific to their location in the greenhouse.
Open the Bundles only as you need them.

Parts List:
S CROSS COUNTRY
— - | S — i 0@ GREENHOUSES
Glazing Caps Glazing Caps (Ripped) h-Channels Twinwall Polycarbonate Panels #8x3" S.S. Screws HOBBY AND CUSTOM




Page #20

PRO TIPS

.%ﬂ -

Have one person working outside the greenhouse
and one on the inside to help fit the
polycarbonate panels into the Ridge.

STAGE 15B: ROOF GLAZING -
(6MM TWINWALL POLYCARBONATE)

Typical Polycarbonate
STEPS: (Rogl)
5.INSERT THE TOP OF THE POLYCARBONATE PANEL INTO THE RIDGE.
6. INSERT THE H-CHANNEL AT THE BOTTOM OF THE PANEL INTO THE GUTTER.
REPEAT
7. INSERT THE TOP OF THE POLYCARBONATE PANEL INTO THE VENT FRAME BOTTOM.
8. REPEAT STEP 6. Square Cut
_HW on top.

REPEAT
CONTINUE ON NEXT PAGE

Square Cut

on bottom.

Parts List:

S CROSS COUNTRY
— o B — i V| GREENHOUSES

Glazing Caps Glazing Caps (Ripped) h-Channels Twinwall Polycarbonate Panels #8x3" S.S. Screws HOBBY AND CUSTOM




Page #21

STAGE 15C: ROOF END CAPS-
(6MM TWINWALL POLYCARBONATE)

Typical Ripped Glazing Cap

(Roof)
STEPS:
9. LAY THE RIPPED CAP ON THE END GLAZING BAR AND TUCK i
BENEATH THE END RAFTER.(CAP SHOULD SIT TIGHT TO THE GUTTER)
10. SECURE THE CAP TO THE GLAZING BAR.
ﬂﬁ.....l...l-ullllll Square Cut
AL on top.

REPEAT FOR ALL CORNERS

CONTINUE ON NEXT PAGE

o

_

Square Cut
on bottom.
10 i
Parts List:
S CROSS COUNTRY
— i - . \>| GREENHOUSES
Glazing Caps Glazing Caps (Ripped) h-Channels Twinwall Polycarbonate Panels #8x3" S.S. Screws HOBBY AND CUSTOM




Page #22

STAGE 15D: ROOF GLAZING -
(6MM TWINWALL POLYCARBONATE)

STEPS:
11. LAY THE CAP ON THE GLAZING BAR (CAP SHOULD SIT TIGHT TO THE GUTTER)
12. SECURE THE CAP TO THE GLAZING BAR.

REPEAT FOR ALL REMAINING ROOF CAPS

Typical Glazing Cap
(Roof)

Square Cut
on top.

!

Square Cut
on bottom.

12

)
%:_Z

Parts List:

l%—

Glazing Caps

| =

Glazing Caps (Ripped) h-Channels

Twinwall Polycarbonate Panels

CROSS COUNTRY

i _ m GREENHOUSES

%mkm: S.S. Screws HOBBY AND CUSTOM




Page #23

1 Peel paper from
Foam Tape

STAGE 16A: SIDE WALL GLAZING - 7 I =
(6MM TWINWALL POLYCARBONATE) et

STEPS:

1. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE SIDE WALL GLAZING BARS .
2. MARK ONE OUTSIDE CORNER OF THE POLYCARBONATE PANEL WITH A FELT PEN.

3. PEEL THE FILM OFF BOTH SIDES OF THE POLYCARBONATE PANEL.

4. PLACE THE H-CHANNEL ONTO THE TOP & BOTTOM OF A POLYCARBONATE PANEL
CONTINUE ON NEXT PAGE

b/ . Inside |[| outside _

Marking the top outside corner of the
polycarbonate panel will help you to identify
the outside surface once the film is pealed..

Typical Polycarbonate
(Side Wall)

Square Cut
on top.

Square Cut
on bottom.

*WARNINGS*
- DO NOT STORE POLYCARBONATE PANELS IN DIRECT SUNLIGHT-
The Plastic Film can melt onto the panels if they get too hot.
-DO NOT LAY POLYCARBONATE PANELS DIRECTLY ON THE GRASS-
Doing so can burn / kill the grass

Due to circumstances beyond our control, the polycarbonate
may not have Blue Film identifying the outside surface.
In this situation, the outside surface will by identified with Text.

On hot days, you may find that the Glazing Foam is too sticky.
Spraying the foam with a light soapy water will make
installing the Polycarbonate easier.

Polycarbonate Panels, Glazing Caps & h-Channels
will come packaged specific to their location in the greenhouse.
Open the Bundles only as you need them.

Parts List:

Glazing Caps Glazing Caps (Ripped) h-Channels Twinwall Polycarbonate Panels #8x3" S.S. Screws

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

_ a




Page #24

Glazing Caps Ripped Glazing Caps h-Channels Twinwall Polycarbonate Panels #8x3" S.S. Screws HOBBY AND CUSTOM

ﬁmo ﬂ:u,m
5
Start by @..mw__:m the 4 corners on the
side walls of the greenhouse.
This will help to square the frame from front to back.
Don't be afraid to shift the Frame as necessary.
STAGE 16B: SIDE WALL GLAZING -
(6MM TWINWALL POLYCARBONATE)
STEPS:
Typical Polycarbonate
5. SLIP THE TOP OF THE POLYCARBONATE PANEL BENEATH THE GUTTER. (Side Wall
6. PUSH THE BOTTOM OF THE POLYCARBONATE PANEL INTO POSITION.
7. PUSH THE TOP H-CHANNEL UP UNTIL IT TOUCHES THE UNDERSIDE OF THE GUTTER. m
REPEAT FOR ALL SIDE WALL GLAZING
CONTINUE ON NEXT PAGE
Square Cut
on top.
Square Cut
N on bottom.
Parts List:
CROSS COUNTRY
oy o — i \=| GREENHOUSES




Page #25

8
All Glazing Caps are cut and punched
so that the holes will line up horizontalfy
if installed right side up.
STAGE 16C: SIDE WALL CORNER CAPS -
(6MM TWINWALL POLYCARBONATE)
STEPS:
- Typical Ripped Glazing Cap
8. TUCK THE TOP OF THE RIPPED CAP BENEATH THE GUTTER AND INSIDE THE CORNER POST. (Side Wall)
9. SECURE THE CAP TO THE GLAZING BAR. - _
REPEAT FOR ALL CORNERS
CONTINUE ON NEXT PAGE ™
Square Cut
N on top.
Square Cut
on bottom.
9
(o —>

Parts List:

CROSS COUNTRY
o I i — V-] GREENHOUSES
[]

Glazing Caps Ripped Glazing Caps h-Channels Twinwall Polycarbonate Panels #8x3" S.S. Screws HOBBY AND CUSTOM




Page #26

STAGE 16D: SIDE WALL CAPS -
(6MM TWINWALL POLYCARBONATE)

STEPS:

10. TUCK THE TOP OF THE CAP BENEATH THE GUTTER.

11. SECURE THE CAP TO THE GLAZING BAR.

REPEAT FOR ALL REMAINING CAPS

10

All Side Wall Caps should sit flush on
top of the Base and be tucked
underneath the gutter.

11

Typical Glazing Cap
(Side Wall)

Square Cut
on top.

i

Square Cut
on bottom.

Parts List:

l%—

Glazing Caps

|

Ripped Glazing Caps

T

h-Channels

Twinwall Polycarbonate Panels

#8x3" S.S. Screws

CROSS COUNTRY
@ GREENHOUSES

HOBBY AND CUSTOM




Page #27
PRO TIPS
1 Peel paper from S
Foam Tape //_%«.

Ve
h-Channels for the top o

N are cut at angle on both ends

to match the roof pitch of the greenhouse.

STAGE 17A: GABLE GLAZING -
(6MM TWINWALL POLYCARBONATE)

STEPS: Typical Polycarbonate
— (Gable Wall)

1. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE GABLE WALL GLAZING BARS .

2. MARK ONE OUTSIDE CORNER OF THE POLYCARBONATE PANEL WITH A FELT PEN. W

3. PEEL THE FILM OFF BOTH SIDES OF THE POLYCARBONATE PANEL.
4. PLACE THE H-CHANNEL ONTO THE TOP & BOTTOM OF A POLYCARBONATE PANEL

CONTINUE ON NEXT PAGE
Angle Cut

Left to Right
on top.

Square Cut
on bottom.

Inside ||| Cutside

Q Polycarbonate Panels, Glazing Caps & h-Channels
will come packaged specific to their location in the greenhouse.
Open the Bundles only as you need them.

Parts List:

CROSS COUNTRY
GREENHOUSES

Glazing Caps Glazing Caps (Ripped) h-Channels Twinwall Polycarbonate Panels #8x3" S.S. Screws HOBBY AND CUSTOM




Page #28

STAGE 17B: GABLE GLAZING -

(6MM TWINWALL POLYCARBONATE)

STEPS:

5. SLIP THE TOP OF THE POLYCARBONATE PANEL BENEATH THE END RAFTER.
6. PUSH THE BOTTOM OF THE POLYCARBONATE PANEL INTO POSITION.

PRO TIPS

p

Start by glazing the 4 corners on the
gable walls of the greenhouse.
This will help to square the frame from left to right.
Don't be afraid to shift the Frame as necessary.

7. PUSH THE TOP H-CHANNEL UP UNTIL IT TOUCHES THE UNDERSIDE OF THE END RAFTER. 6

REPEAT FOR ALL ANGLE-CUT GABLE GLAZING

CONTINUE ON NEXT PAGE

Typical Polycarbonate
(Gable Wall)

Angle Cut
Left to Right
on top.

Square Cut

on bottom.

Parts List:

ljf—

Glazing Caps

|

Glazing Caps (Ripped)

T

h-Channels

Twinwall Polycarbonate Panels

T

#8x3" S.S. Screws

CROSS COUNTRY
_ m GREENHOUSES

HOBBY AND CUSTOM




Page #29

STAGE 17C: BESIDE DOOR GLAZING -
(6MM TWINWALL POLYCARBONATE)

STEPS:

8. PLACE THE H-CHANNELS ONTO THE TOP & BOTTOM OF THE NARROW

Inside 7 Dutside

POLYCARBONATE PANELS INTENDED FOR BESIDE THE DOOR.

9. FILL THE GAP BETWEEN THE BASE AND THE DOOR FRAME WITH CAULKING. m
10. SLIP THE POLYCARBONATE PANELS INTO THE TRACK ON THE SIDE OF THE DOOR FRAME

& ROTATE INTO POSITION.
11. PUSH THE TOP H-CHANNEL UP UNTIL IT TOUCHES THE BOTTOM OF THE DOOR HEADER.

CONTINUE ON NEXT PAGE

10

- — r

PRO TIPS

@
Marking the top outside corner of the

polycarbonate panel will help you to identify
the outside surface once the film is pealed..

Typical Polycarbonate
(Beside Door)

Square Cut
on top.

Square Cut
on bottom.

Parts List:

Glazing Caps Glazing Caps (Ripped) h-Channels Caulking Twinwall Polycarbonate Panels

Twinwall Polycarbonate Panels
(Narrow - Beside Door)

T

#8x3" S.S. Screws

CROSS COUNTRY
_ m GREENHOUSES

HOBBY AND CUSTOM




Page #30

12

F
F

STAGE 17D: GABLE CORNER CAPS - —>
(6MM TWINWALL POLYCARBONATE)

STEPS:

Typical Ripped Glazing Cap

12. TUCK THE TOP OF THE RIPPED CAP BENEATH THE END RAFTER AND INSIDE THE CORNER POST. (GaRie; el

13. SECURE THE CAP TO THE GLAZING BAR.

REPEAT FOR ALL CORNERS

CONTINUE ON NEXT PAGE \—ﬁ\/ b:w....m Cut

L] X Left to Right
] on top.

Square Cut
on bottom.

13

Parts List:

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

= L= S | S =

Glazing Caps Glazing Caps (Ripped) h-Channels Twinwall Polycarbonate Panels #8x3" S.S. Screws

1
T




Page #31

STAGE 17E: GABLE CAPS -
(6MM TWINWALL POLYCARBONATE)

STEPS:

14. TUCK THE TOP OF THE CAP BENEATH THE END RAFTER.

156. SECURE THE CAP TO THE GLAZING BAR.

REPEAT FOR ALL REMAINING CAPS

14

N\

I ol

[

15

Typical Glazing Cap
(Gable Wall)

Angle Cut
Left to Right
on top.

Square Cut
on bottom.

Parts List:

= L= | —

Glazing Caps Glazing Caps (Ripped) h-Channels

Twinwall Polycarbonate Panels

T

#8x3" S.S. Screws

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM




Page #32

PRO TIPS
W

STAGE 18: SEALING - @ CLEAR SILICONE (PROGLAZE) Ridge
(6MM TWINWALL POLYCARBONATE) @ COLORED CAULKING (TREMCO 830)

Ridge

|

on_ g Sealants are best applied when warm
(Room temperature or better)

N.. =2 w "
Vent
Slider
End Rafter
ro /
g w—j/7
N- _ w n

[[

l

Gutter

=— Door Header

N-Iw._

Already Sealed
in step 16C

TOOL SEALANTS WITH A SOAPY GLOVED FINGER
OR A CAULK-SMOOTHING TOOL.

Parts List:

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

_ FROGLAZE _.m||| — TREMCD 830 —.I“..|||

Silicone Caulking Caulking Gun

_ a




Page #33

STAGE 19A: FOIL TAPE -
(16 MM S5WALL POLYCARBONATE)

STEPS:

1. CUT SOLID & VENTED FOIL TAPES INTO APPROPRIATE LENGTHS .

2. PEEL THE FILM BACK FROM THE EDGES OF THE POLYCARBONATE PANELS.

3. MARK ONE OUTSIDE CORNER OF THE POLYCARBONATE PANELS WITH A FELT PEN.

CONTINUE ON NEXT PAGE

Nb.: |
|

B

24" L

26—

MOOODDDDDDDUUU_

I

24" J_

‘A| 26" +/- \v_

_UUOODUUDDDDUU_

PRO TIPS

When marking the corner of the panels,
do so as close to the edge of that panel as
possible so that the mark is hidden once installed.

L.\.y

2

HRRREN

[T

Parts List:

Solid Foil Tape Vented Foil Tape 5 Wall Polycarbonate Panels

CROSS COUNTRY
_ m GREENHOUSES

HOBBY AND CUSTOM




Page #34

STAGE 19B: FOIL TAPE -
(16 MM S5WALL POLYCARBONATE)

STEPS:

4. PLACE A PIECE OF SOLID FOIL TAPE EVENLY ON THE TOP OF A POLYCARBONATE PANEL

& SMOOTHLY FOLD THE EDGES OVER.
5. FLIP THE POLYCARBONATE PANEL OVER.

6. PLACE A PIECE OF VENTED FOIL TAPE EVENLY ON THE BOTTOM OF A POLYCARBONATE PANEL

& SMOOTHLY FOLD THE EDGES OVER.

REPEAT FOR ALL POLYCARBONATE PANELS

T3

Parts List:

Solid Foil Tape Vented Foil Tape

5 Wall Polycarbonate Panels

_ =

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM




Page #35

Peel paper from
Foam Tape

1
T T T T T 1
. —— —T |.
nnm I I m
T 111
T S OMBLATE ONE Sioe AEAORe BEGARMG e by T DDA 2
STAGE 20A: ROOF GLAZING -
(16 MM 5WALL POLYCARBONATE)
STEPS: Z)

1. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE ROOF GLAZING BARS .
2. PEEL THE FILM OFF BOTH SIDES OF THE POLYCARBONATE PANEL.
3. PLACE THE H-CHANNEL ONTO THE BOTTOM OF A POLYCARBONATE PANEL

CONTINUE ON NEXT PAGE

If using a cordless drill to fasten the Caps, set your drill to a low Torque Setting.
Screws should be snug to the cap plus a quarter tumn.

i

@\.T Setting Blocks

v

H-Channel (w/ Holes)

Do Not cover holes.

Inside

Outside

Parts List:

Have one person working outside the greenhouse
and one on the inside to help fit the
polycarbonate panels into the Ridge.

Typical Polycarbonate
(Roof)

Square Cut
on top.

Square Cut
on bottom.

*WARNINGS*
- DO NOT STORE POLYCARBONATE PANELS IN DIRECT SUNLIGHT-
The Plastic Film can melt onto the panels if they get too hot.
-DO NOT LAY POLYCARBONATE PANELS DIRECTLY ON THE GRASS-
Doing so can burn / kill the grass

Due to circumstances beyond our control, the polycarbonate
may not have Blue Film identifying the outside surface.
In this situation, the outside surface will by identified with Text.

On hot days, you may find that the Glazing Foam is too sticky.
Spraying the foam with a light soapy water will make
installing the Polycarbonate easier.

Polycarbonate Panels, Glazing Caps & h-Channels
will come packaged specific to their location in the greenhouse.
Open the Bundles only as you need them.

| | e

h-Channels (Bottom)

%F

L

5wall Polycarbonate Panels

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top)

Setting Blocks

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

- I

#8x3" S.S. Screws

_ a




Page #36

STAGE 20B: ROOF GLAZING -
(16 MM 5WALL POLYCARBONATE)

Typical Polycarbonate

STEPS: (Roof)
4 INSERT THE TOP OF THE POLYCARBONATE PANEL INTO THE RIDGE.
5. INSERT THE H-CHANNEL AT THE BOTTOM OF THE PANEL INTO THE GUTTER.
REPEAT
CONTINUE ON NEXT PAGE

Square Cut

on top.
Square Cut
on bottom.

Parts List:

N
o o I IH h-Channels (Bottom) Swall Polycarbonate Panels oy .q m

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top) Setting Blocks #8x3" S.S. Screws

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM




Page #37

6 XA’ H-Channel (No Holes)

(|5
u\ ‘
STAGE 20C: ROOF GLAZING - 0 MT Setting Blocks
(16 MM 5WALL POLYCARBONATE) @ H-Channel (w/ Holes)
STEPS:
6. APPLY H-CHANNELS & SETTING BLOCKS TO TOP AND BOTTOM OF POLYCARBONATE PANELS. Do Not cover holes.

7. INSERT THE POLYCARBONATE PANEL BELOW THE VENT FRAME BOTTOM & SLIDE THE H-CHANNEL UP
UNTIL IT TOUCHES THE VENT FRAME BOTTOM.
8. INSERT THE H-CHANNEL AT THE BOTTOM OF THE PANEL INTO THE GUTTER.

7

REPEAT

CONTINUE ON NEXT PAGE

Parts List:

| _ e “) CROSS COUNTRY
—I L= N | S IH h-Channels (Bottom) 5wall Polycarbonate Panels p— .q 0@ GREENHOUSES

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top) Setting Blocks #8x3" S.S. Screws HOBBY AND CUSTOM




Page #38

STAGE 20D: ROOF END CAPS-
(16 MM 5WALL POLYCARBONATE)

Typical Ripped Glazing Cap
(Roof)
STEPS:
9. LAY THE RIPPED CAP ON THE END RAFTER & GLAZING BAR i
(CAP SHOULD SIT TIGHT TO THE GUTTER)
10. SECURE THE CAP TO THE GLAZING BAR.
REPEAT FOR ALL CORNERS Square Cut
on top.
CONTINUE ON NEXT PAGE
N\
y &
\Y\.\
4 Square Cut
on bottom.

Parts List:

)
I [ | E 1-” h-Channels (Bottom) 5wall Polycarbonate Panels iy ﬁ. m

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top) Setting Blocks #8x3" S.S. Screws

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM




Page #39

M.\.\Dmm NQm moo\n ﬁ.\_:u.m = Typical Glazing Cap
(16MM 5WALL POLYCARBONATE) Rasd
Square Cut
STEPS: on top.
11. LAY THE CAP ON THE GLAZING BAR (CAP SHOULD SIT TIGHT TO THE GUTTER)
12 SECURE THE CAP TO THE GLAZING BAR.
REPEAT FOR ALL REMAINING CAPS
Square Cut
on bottom.
12
J
=== =
== —> s
Parts List:
e 7™ CROSS COUNTRY
—J = | 1-” h-Channels (Bottom) 5wall Polycarbonate Panels p— ﬁ. 0@ GREENHOUSES

HOBBY AND CUSTOM

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top) Setting Blocks #8x3" S.S. Screws




Page #40

STAGE 21A: SIDE WALL GLAZING -
(16 MM 5WALL POLYCARBONATE)

STEPS:
1. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE SIDE WALL GLAZING BARS .
2. PEEL THE FILM OFF BOTH SIDES OF THE POLYCARBONATE PANEL.

3. PLACE THE H-CHANNELS & SETTING BLOCKS ONTO THE TOP & BOTTOM OF A POLYCARBONATE PANEL

CONTINUE ON NEXT PAGE

]
D

Peel paper from
Foam Tape

W

\A’ H-Channel (No Holes)

=)

0

u.\ “

Inside

—~=— Setting Blocks

J

H-Channel (w/ Holes)

Do Not cover holes.

Cutside

PRO TIPS

.%1.

Applying a drop of silicone to the
Setting Blocks before installing will
prevent them from sliding out of position.

Typical Polycarbonate
(Side Wall)

Square Cut
on top.

Square Cut
on bottom.

Parts List:

= =  J L T

=

h-Channels (Bottom)

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top)

5wall Polycarbonate Panels

=3

Setting Blocks

e

#8x3" S.S. Screws

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM




Page #41

PRO TIPS

Start by glazing the 4 corners on the
side walls of the greenhouse.
This will help to square the frame from front to back.
Don't be afraid to shift the Frame as necessary.

STAGE 21B: SIDE WALL GLAZING -

(16 MM 5WALL POLYCARBONATE)

STEPS:
Typical Polycarbonate
4. SLIP THE TOP OF THE POLYCARBONATE PANEL BENEATH THE GUTTER. (Side Wall)
5. PUSH THE BOTTOM OF THE POLYCARBONATE PANEL INTO POSITION.
6. PUSH THE TOP H-CHANNEL UP UNTIL IT TOUCHES THE UNDERSIDE OF THE GUTTER. .m

REPEAT FOR ALL SIDE WALL GLAZING

CONTINUE ON NEXT PAGE

Square Cut
on top.

Square Cut
on bottom.

Parts List:

= = s _ h-Channels (Bottom) 5wall Polycarbonate Panels — ﬂ m

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top) Setting Blocks

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

#8 x3" S.S. Screws




Page #42

STAGE 21C: SIDE WALL CORNER CAPS -
(16 MM 5WALL POLYCARBONATE)

STEPS:

7. PRESS THE RIPPED CAP AGAINST THE GLAZING BAR & CORNER POST.
8. SECURE THE CAP TO THE GLAZING BAR.

REPEAT FOR ALL CORNERS

CONTINUE ON NEXT PAGE

All Glazing Caps are cut and punched
so that the holes will line up horizontalfy

if installed right side up.

=

Typical Ripped Glazing Cap
(Side Wall)

Square Cut
on top.

Square Cut
on bottom.

Parts List:

— = L=

Glazing Caps  Glazing Caps (Ripped)

j

h-Channels (Top)

B

h-Channels (Bottom)

5Swall Polycarbonate Panels

Setting Blocks  #8x3" S.S. Screws

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM




Page #43

9
All Side Wall Om_.cm should sit flush om
top of the Base and be tight to the Guiter.
STAGE 21D: SIDE WALL GLAZING -
(16 MM 5WALL POLYCARBONATE)
STEPS:
Typical Glazing Cap
9. PLACE THE CAP AGAINST THE POLYCARBONATE PANEL (Side Wall)
10. SECURE THE CAP TO THE GLAZING BAR.
REPEAT FOR ALL REMAINING CAPS ATTTT ™
/]
Square Cut
v on top.
N
.:.r-..f||l.|.l\\\ % : 7
.mnmmw.m ..OE
on bottom.
10
i
=
=
(e > e
MM
B “ ) CROSS COUNTRY
= L | S I_”” h-Channels (Bottom) 5wall Polycarbonate Panels ﬁ. 0@ GREENHOUSES

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top)

Setting Blocks ~ #8x3" S.S. Screws

HOBBY AND CUSTOM




Page #44

PRO TIPS

1 Peel paper from
Foam Tape

h-Channels for the wo.c o
are cut at angle on both ends
to match the roof pitch of the greenhouse.

2
STAGE 22A: GABLE GLAZING -
(16 MM 5WALL POLYCARBONATE)
Typical Polycarbonate
(Gable Wall)
STEPS:
1. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE SIDE WALL GLAZING BARS .
2. PEEL THE FILM OFF BOTH SIDES OF THE POLYCARBONATE PANEL.
3. PLACE THE H-CHANNELS & SETTING BLOCKS ONTO THE TOP & BOTTOM OF A POLYCARBONATE PANEL .w =<— H-Channel (No Holes)
CONTINUE ON NEXT PAGE
Angle Cut
@, Left to Right
on top.
H Inside Outside
Square Cut
on bottom.
\\\ t

Do Not cover holes.

Polycarbonate Panels, Glazing Caps & h-Channels
will come packaged specific to their location in the greenhouse.
Open the Bundles only as you need them.

Parts List:

)
o o I_H h-Channels (Bottom) Swall Polycarbonate Panels oy d. m

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top) Setting Blocks #8x3" S.S. Screws

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM




Page #45

Nw Start by glazing the 4 corners on the
gable walls of the greenhouse.

(16 MM 5WALL POLYCARBONATE)

} | This will help to square the frame from left to right.
STAGE 22B: GABLE GLAZING - % >

STEPS:

4. SLIP THE TOP OF THE POLYCARBONATE PANEL BENEATH THE END RAFTER.
5. PUSH THE BOTTOM OF THE POLYCARBONATE PANEL INTO POSITION.
6. PUSH THE TOP H-CHANNEL UP UNTIL IT TOUCHES THE UNDERSIDE OF THE END RAFTER. 5

REPEAT FOR ALL ANGLE-CUT GABLE GLAZING

CONTINUE ON NEXT PAGE

6
Parts List:
;08 7™ CROSS COUNTRY
o o B T h-Channels (Bottom) iyl Polycor B Bunsls _ i V-] GREENHOUSES
Glazing Caps  Glazing Caps (Ripped) h-Channels (Top) _ ] ) _ Setting Blocks #8 x3" S.S. Screws HOBBY AND CUSTOM




Page #46

STAGE 22C: BESIDE DOOR GLAZING -
(16 MM 5WALL POLYCARBONATE)

STEPS:

7. PLACE THE H-CHANNELS ONTO THE TOP, BOTTOM & ONE SIDE OF THE NARROW
POLYCARBONATE PANELS INTENDED FOR BESIDE THE DOOR.

8. FILL THE GAP BETWEEN THE BASE AND THE DOOR FRAME WITH CAULKING.

9. SLIP THE LONG H-CHANNELS INTO THE TRACK ON THE SIDE OF THE DOOR FRAME

%Al H-Channel (No Holes)

e

=— Long H-Channel
Inside Outside

ﬂ.nl Setting Blocks

<— H-Channel (w/ Holes)

Do Not cover holes.

H-Channel (No Holes)

}
Long H-Channel
|

H-Channel (w/ Holes)

Inside

EEEE S =l

Outside

& ROTATE INTO POSITION.

10. PUSH THE TOP H-CHANNEL UP UNTIL IT TOUCHES THE BOTTOM OF THE DOOR HEADER. %

CONTINUE ON NEXT PAGE

The Long r-O&m:.am__.m for this step were
packaged with the rest of the Door Frame installedy
during Stage 3 of the Assembly process.

Typical Polycarbonate
(Beside Door)

Square Cut
on top.

Square Cut
on bottom.

10

Parts List:

=

%F

L

h-Channels (Bottom)

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top)

Swall Polycarbonate Panels

Setting Blocks

=3

[_mowcomn ==
Caulking

I

#8x3" S.S. Screws

CROSS COUNTRY

_ m GREENHOUSES

HOBBY AND CUSTOM




Page #47

11

STAGE 22D: GABLE CORNER CAPS - = —
(16 MM 5WALL POLYCARBONATE)
STEPS. Typical Ripped Glazing Cap

11. PRESS THE RIPPED CAP AGAINST THE GLAZING BAR & CORNER POST. (GaRie; el
12. SECURE THE CAP TO THE GLAZING BAR.

REPEAT FOR ALL CORNERS

CONTINUE ON NEXT PAGE \ Angle Cut
] Left to Right
Il

i on top.

-

Square Cut
on bottom.
12
Parts List:
B “ ) CROSS COUNTRY
mﬁ F .IH h-Channels (Bottom) Swall Polycarbonate Panels — .m. ﬂN\V m wm m Z _I_ ocw m w

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top) Setting Blocks #8x3" S.S. Screws HOBBY AND CUSTOM




Page #48

13
Il b b
=> —>
STAGE 22E: GABLE CAPS -
(16 MM 5WALL POLYCARBONATE)
STEPS: o ﬂ%bﬂ%w M_ﬁmmw”\:m@mcomﬁ
13. PRESS THE CAP AGAINST THE GLAZING BAR. \ M ]
14. SECURE THE CAP TO THE GLAZING BAR.
REPEAT FOR ALL REMAINING CAPS \/W_JL qli)
_HWU\M_L_M @ bznﬂ.m_ 02
N 4 Left to Right
on top.
N M
14 o batom,

Parts List:

| _ ;B “ ) CROSS COUNTRY
N[|_|H F .IH h-Channels (Bottom) Swall Polycarbonate Panels — .m. ﬂN\V 0 wm m Z _I_ ocw m w

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top) Setting Blocks #8x3" S.S. Screws HOBBY AND CUSTOM




Page #49

PRO TIPS
W :
STAGE 23: SEALING - e CLEAR SILICONE (PROGLAZE) Ridge ),J\
(16 MM 5WALL POLYCARBONATE) / e COLORED CAULKING (TREMCO 830) G J ! 7
Ridge
|

y L X Sealants are best applied when warm
(Room temperature or better)

Vent
Slider
End Rafter
N__ - w 1] %
g WE7
N__ _ W n

[[

l

Gutter

¥ Door Header

N-Iw._

el

Sealed in
Stage 21C

NO

(LLLL]
=

LA

-

L HHAND
LI
AN

.

»
.
.
»
-’
-,

A

S255050525

S252055S

5
oY
-,

-,
.

.
-,

55

.
.

TOOL SEALANTS WITH A SOAPY GLOVED FINGER
OR A CAULK-SMOOTHING TOOL.

Parts List:

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

_ FROGLAZE _.m||| — TREMCD 830 —.I“..|||

Silicone Caulking Caulking Gun

_ a




Page #50

STAGE 24: GLASS OVERLAPS
(3MM TEMPERED SINGLE GLASS)

"WARNINGS*®
- DO NOT USE A CORDLESS DRILL DURING THIS STAGE-
OVER-TIGHTENING THE SCREWS CAN
CAUSE THE GLASS TO SHATTER

UPPER ROW OF GLASS

UPPER ROW OF CAPS

UPPER & LOWER CAPS SHARE A SCREW ———=

N

L

LOWER ROW OF GLASS

LOWER ROW OF CAPS

GLAZING BAR

UPPER ROW OF CAPS ———— =

\
\

UPPER GLASS OVERLAPS LOWER GLASS BY 3"

The only place that the glass won't overlap is
the narrow pieces beside a storm door.

ol
o

\
//m|r_vtmm ROW OF GLASS

[~ — Z— —— UPPER GLASS OVERLAPS LOWER GLASS BY 3"

UPPER & LOWER CAPS SHARE A SCREW

\

\

LOWER ROW OF CAPS

\
//m| LOWER ROW OF GLASS

Parts List:

—

Glazing Caps 3mm Tempered Glass Panels

T

#8 x3" S5.5. Screws

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

_ a




Page #51

A____________

Back
Front

___“_____"__”v

GLAZE & CAP THE ROOF IN ORDER FROM BACK TO FRONT AND THEN FRONT TO BACK.
ONE ROW OF GLASS AT A TIME.
COMPLETE ONE SIDE BEFORE BEGINNING THE NEXT,

STAGE 25A: ROOF GLAZING -
(3MM TEMPERED SINGLE GLASS)

STEPS:

1. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE GABLE GLAZING BARS .
2. STARTING IN EITHER CORNER, REST THE FIRST GLASS PANEL IN THE GUTTER, LOWER
ONTO THE ROOF GLAZING BAR AND PRESS AGAINST THE FOAM TAPE.

3. ATTACH THE FIRST GLASS CAP TO THE END RAFTER WITH m__ #8 SCREWS.
ENSURE THE CAP IS TIGHT TO THE GUTTER

REPEAT FOR ENTIRE BOTTOM ROW OF ROOF GLASS.

CONTINUE ON NEXT PAGE

Parts List:

Peel paper from
Foam Tape

Side View

LEAVE THIS HOLE EMPTY.

PRO TIPS

Your Greenhouse will come with a Glass Map
showing you the location and dimensions of
every piece of glass and cap.

Glazing Caps 3mm Tempered Glass Panels #8 x3" S.S. Screws

HOBBY AND CUSTOM

CROSS COUNTRY
_ m GREENHOUSES




Page #52

STAGE 25B: ROOF GLAZING -
(3MM TEMPERED SINGLE GLASS)

STEPS:

4. STARTING AT ONE END, REST THE NEXT ROW OF GLASS PANELS ON
TOP OF THE CAPS BELOW AND PRESS TIGHT AGAINST THE GLAZING FOAM
5. SET THE NEXT CAP IN PLACE SO THAT THE TOP & BOTTOM HOLES OVERLAP

6. SECURE THE CAP WITH 3" #8 SCREWS LEAVING THE TOP HOLE ON THE CAP EMPTY

REPEAT FOR ALL REMAINING ROWS OF GLASS OTHER THAN THE TOP ROW

CONTINUE ON NEXT PAGE

Side View

Side View

PRO TIPS

Your Greenhouse will come with a Glass Map
showing you the location and dimensions of
every piece of glass and the cap.

/ N\ N\_| EAVE THIS HOLE EMPTY.

W\

IR
BRI

iy - T~ — —~ < T e
V o/ / _— / /
N
~ L Side View BOTTOM HOLE OF UPPER CAP &
T TOP HOLE OF LOWER CAP WILL LINE UP
x & SHARE A SINGLE SCREW.
Parts List:
S CROSS COUNTRY
i o) GREENHOUSES
=

Glazing Caps 3mm Tempered Glass Panels #8 x3" S.S. Screws HOBBY AND CUSTOM




Page #53

STAGE 25C: ROOF GLAZING -
(3MM TEMPERED SINGLE GLASS)

STEPS:
7. STARTING AT ONE END, REST THE NEXT ROW OF GLASS PANELS ON
TOP OF THE CAPS BELOW AND PRESS TIGHT AGAINST THE GLAZING FOAM .
8. SLIP THE TOP OF THE NEXT CAP BENEATH THE RIDGE AND SET IN PLACE
SO THAT THE TOP & BOTTOM HOLES OVERLAP.

9. SECURE THE CAP WITH 3" #8 SCREWS.

REPEAT FOR REMAINING PIECES IN THE TOP ROW OF ROOF GILASS

Side View

BOTTOM HOLE OF UPPER CAP &
TOP HOLE OF LOWER CAP WILL LINE UP
& SHARE A SINGLE SCREW.

G | o

Parts List:

s ) q
Glazing Caps 3mm Tempered Glass Panels #8 x3" S.S. Screws

CROSS COUNTRY
_ m GREENHOUSES

HOBBY AND CUSTOM




Page #54

STAGE 26A: SIDE WALL GLAZING -
(3MM TEMPERED SINGLE GLASS)

STEPS:
1. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE SIDE WALL GLAZING BARS .
2. INSTALL THE FIRST GLASS PANEL IN ANY SIDE WALL CORNER AND

PRESS TIGHT AGAINST THE FOAM TAPE .

3. ATTACH THE GLASS CAP TO THE CORNER POST ONLY WITH #" #8 SCREWS.

REPEAT FOR REMAINING SIDE WALL CORNERS

CONTINUE ON NEXT PAGE

Peel paper from
Foam Tape

—>
- d T

Side View

Your Greenhouse will come with a Glass Map
showing you the location and dimensions of
every piece of glass and cap.

Top View

LEAVE THIS HOLE EMPTY.

Parts List:

= q

Glazing Caps 3mm Tempered Glass Panels #8 x3" S.S. Screws

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

_ a




Page #55

STAGE 268B: SIDE WALL GLAZING -
(3MM TEMPERED SINGLE GLASS)

STEPS:

4. INSTALL THE REMAINING GLASS PANELS IN THE BOTTOM ROW OF SIDE WALL GLASS .

5. ATTACH THE REMAINING GLASS CAPS TO THE BOTTOM ROW OF GLASS.

REPEAT FOR ENTIRE BOTTOM ROW OF SIDE WALL GLASS

CONTINUE ON NEXT PAGE

1 T

Side View

=

LN mmv

Do not over-tighten the screws.
You want to make the screw snug
plus a quarter turmn.

Top View

LEAVE THIS HOLE EMPTY.

Parts List:

= q

Glazing Caps 3mm Tempered Glass Panels #8 x3" S.S. Screws

CROSS COUNTRY
_ m GREENHOUSES

HOBBY AND CUSTOM




Page #56

STAGE 26C: GLASS OVERLAPS
(3MM TEMPERED SINGLE GLASS)

STEPS:

6. STARTING AT ONE END, TUCK THE TOP OF THE GLASS PANEL BENEATH THE GUTTER..

7. REST THE GLASS PANEL ON TOP OF THE CAP BELOW AND PRESS TIGHT AGAINST
THE FOAM TAPE.

8. SLIP THE FIRST CAP BENEATH THE GUTTER AND LINE IT UP SO THAT THE BOTTOM HOLE
LINES UP WITH THE TOP HOLE ON THE CAP BELOW.

SECURE CAPS WITH " #8 SCREWS

REPEAT FOR ENTIRE TOP ROW OF SIDE WALL GLASS

The only place that the glass won't overlap is
the narrow pieces beside a storm door.

% %
\ \

% %
% h!

BOTTOM HOLE OF UPPER CAP &
TOP HOLE OF LOWER CAP WILL LINE UP
& SHARE A SINGLE SCREW.

Parts List:

= q

Glazing Caps 3mm Tempered Glass Panels #8 x3" S.S. Screws

CROSS COUNTRY
_ m GREENHOUSES

HOBBY AND CUSTOM




Page #57

1 Peel paper from

Foam Tape
LS mm.,v

Your Greenhouse §......_. come with a Glass Map

N showing you the location and dimensions of
every piece of glass and the cap.

STAGE 27A: GABLE GLAZING -
(3MM TEMPERED SINGLE GLASS)

I

Side View

STEPS:
1. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE GABLE GLAZING BARS .
2. INSTALL THE FIRST GLASS PANEL IN ANY GABLE CORNER . [

3. ATTACH THE GLASS CAP TO THE CORNER POST ONLY WITH %" #8 SCREWS.

REPEAT FOR REMAINING GABLE CORNERS

Top View
CONTINUE ON NEXT PAGE

LEAVE THIS HOLE EMPTY. /

(=

Parts List:
S CROSS COUNTRY
i \>| GREENHOUSES
s )
Glazing Caps 3mm Tempered Glass Panels #8 x3" S.S. Screws HOBBY AND CUSTOM




Page #58

STAGE 27B: GABLE GLAZING -
(3MM TEMPERED SINGLE GLASS)

STEPS:
4, INSTALL THE REMAINING GLASS PANELS IN THE BOTTOM ROW OF GABLE GLASS
EXCEPT THE NARROW PIECES BESIDE THE STORM DOOR .

5. ATTACH THE REMAINING GLASS CAPS TO THE BOTTOM ROW OF GLASS AS YOU GO.

REPEAT FOR ENTIRE BOTTOM ROW OF GABLE GLASS

CONTINUE ON NEXT PAGE

1 T

Side View

=

Top View

Do not over-tighten the screws.
You want to make the screw snug
plus a quarter turmn.

LEAVE THIS HOLE EMPTY.

Parts List:

= q

Glazing Caps 3mm Tempered Glass Panels #8 x3" S.S. Screws

CROSS COUNTRY

_ m GREENHOUSES

HOBBY AND CUSTOM




Page #59

6 u mm AL
_._ m Do not over-tighten the screws.
You want to make the screw snug
@ @ plus a quarter turn.
STAGE 27C: GABLE GLAZING (BESIDE DOOR)
(3MM TEMPERED SINGLE GLASS) outsice| msise >
Side View
STEPS:
6. FILL THE GAP BETWEEN THE BASE AND DOOR FRAME WITH CAULKING.
7. PLACE A PLASTIC H-CAM ON THE TOP OF THE FIRST PIECE OF GLASS BESIDE THE DOOR. / /
8. INSERT THE GLASS PANEL INTO THE SIDE OF THE DOOR FRAME 8 L
AND PRESS TIGHT AGAINST THE FOAM TAPE. m / /
9. SECURE GLASS PANEL WITH CAP AND 3" #8 SCREWS WA RN 0L | | WL S 0 19 _
REPEAT FOR REMAINING GLASS PANELS BESIDE STORM DOOR @ stl— — —v— |/| o /
CONTINUE ON NEXT PAGE
= X % \
i IG
BOTTOM HOLE OF UPPER CAP &
TOP HOLE OF LOWER CAP WILL LINE UP
& SHARE A SINGLE SCREW.
’ T
e
U
L
| % s
Parts List:
m CROSS COUNTRY
i L T =1 GREENHOUSES
Glazing Caps 3mm Tempered Glass Panels #8 x3" S.S. Screws h-cam Caulking HOBBY AND CUSTOM




Page #60

STAGE 27D: GABLE GLAZING -
(3MM TEMPERED SINGLE GLASS)

STEPS:
10. STARTING AT ONE CORNER, REST THE GLASS PANELS ON TOP OF THE CAPS BELOW
AND PRESS TIGHT AGAINST THE GLAZING FOAM

11. SECURE THE CAP WITH %" #8 SCREWS LEAVING THE TOP HOLE ON THE CAP EMPTY

REPEAT FOR REMAINING SQUARE CUT GABLE GLASS

CONTINUE ON NEXT PAGE

10

11

PRO TIPS

o

Wy

LN S
&
Do not over-tighten the screws.

You want to make the screw snug
plus a quarter turmn.

/ /A LEAVE THIS HOLE EMPTY.

\ %

BOTTOM HOLE OF UPPER CAP &
TOP HOLE OF LOWER CAP WILL LINE UP
& SHARE A SINGLE SCREW.

Parts List:

= q

Glazing Caps 3mm Tempered Glass Panels #8 x3" S.S. Screws

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

_ a




Page #61

Short Caps may be buckled or crimped
on one end lo make it easier for thern
to fit beneath the End Rafter

S~
U

STAGE 27E: GABLE GLAZING -
(3MM TEMPERED SINGLE GLASS)

13 / /

STEPS:
12. STARTING AT ONE CORNER,SLIP THE ANGLE CUT GLASS PANEL BENEATH THE END RAFTER.
13. REST THE GLASS PANELS ON TOP OF THE CAPS BELOW AND PRESS TIGHT

AGAINST THE GLAZING FOAM

14. SLIP THE TOP OF THE CAP BENEATH THE END RAFTER & SECURE THE CAP WITH " #8 SCREWS.

\

BOTTOM HOLE OF UPPER CAP &
REPEAT FOR REMAINING ANGLE CUT GABLE GLASS TOP HOLE OF LOWER CAP WILL LINE UP

& SHARE A SINGLE SCREW.

'U’K
U
e
*
>4

14 mﬁ .%M

Parts List:
S CROSS COUNTRY
i \>| GREENHOUSES
s )
Glazing Caps 3mm Tempered Glass Panels #8x3" S.5. Screws HOBBY AND CUSTOM




Page #62

STAGE 28: SEALING -
(3mm SINGLE GLASS)

® CLEAR SILICONE (PROGLAZE)
@ COLORED CAULKING (TREMCO 830)

Ridge

|

g |

Vent
Slider

=

Ridge

N-Iw:

Sealants are best applied when warm
(Room temperature or better)

End Rafter

N._ lw-

HOBBY AND CUSTOM

N- = .w nn
Gutter
Mﬁ. =— Door Header
If Desired If Desired
®
/ / Glass Stage 26C |ﬂ@ ®
e
O<m1m_u NO
TOOL SEALANTS WITH A SOAPY GLOVED FINGER
OR A CAULK-SMOQOTHING TOOL.
S CROSS COUNTRY
R ——— V-] GREENHOUSES
Silicone Caulking Caulking Gun




Page #63

.N Peel paper from
A_ I I | Foam Tape
I I
B e s s
Have one person working outside the greenhouse
GLAZE & CAP THE ROOF IN ORDER FROM BACK TO FRONT AND THEN FRON'T TO BACK.

and one on the inside to help fit the
COMPLETE ONE SIDE BEFORE BEGINNING THE NEXT. glass panels into the Ridge.

Back
Front

STAGE 29A: ROOF GLAZING -
(16 MM DOUBLE GLASS)

T\

\

| \
STEPS: N

\

Inside Qutside

1. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE ROOF GLAZING BARS .
2. PLACE THE H-CHANNEL ONTO THE BOTTOM OF A GLASS PANEL

@ —=<— Setting Blocks
CONTINUE ON NEXT PAGE .

-

H-Channel (w/ Holes)

Do Not cover holes.

*WARNINGS*
If your glass has a Low-E Protective Coating,
the sticker on the glass will go on the inside.

If your Greenhouse is being installed at an elevation
above 2000, your glass may have Breather Tubes installed.
There will be instructional stickers attached to the glass.
Breather Tubes must be pinched and sealed prior to installation.

On hot days, you may find that the Glazing Foam is too sticky.
Spraying the foam with a light soapy water will make
installing the Glass easier.

Glazing Caps & h-Channels
will come packaged specific to their location in the greenhouse.
Open the Bundles only as you need them.

Parts List:

_ 5 _ .
N
= e [ IH h-Channels (Bottom) 16mm Double Glass Panels .q — m

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top) Setting Blocks #8x3" S.S. Screws




Page #64

STAGE 29B: ROOF GLAZING -
(16 MM DOUBLE GLASS)

STEPS:
3.INSERT THE TOP OF THE GLASS PANEL INTO THE RIDGE.
4. INSERT THE H-CHANNEL AT THE BOTTOM OF THE PANEL INTO THE GUTTER.

REPEAT

CONTINUE ON NEXT PAGE

Parts List:

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

h | g | .
N
= e [ IH h-Channels (Bottom) 16mm Double Glass Panels .q m

=3

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top) Setting Blocks #8x3" S.S. Screws




Page #65

STAGE 29C: ROOF GLAZING -
(16 MM DOUBLE GLASS)

STEPS:

5. APPLY H-CHANNELS & SETTING BLOCKS TO TOP AND BOTTOM OF GLASS PANELS.

6. INSTALL THE GLASS PANEL BELOW THE VENT FRAME BOTTOM & SLIDE THE H-CHANNEL UP
UNTIL IT TOUCHES THE VENT FRAME BOTTOM.

5 XA’ H-Channel (No Holes)

£

Inside Dutside

—<— Setting Blocks

&
H-Channel (w/ Holes)

Do Not cover holes.

7. INSERT THE H-CHANNEL AT THE BOTTOM OF THE PANEL INTO THE GUTTER.

REPEAT

CONTINUE ON NEXT PAGE

6

Parts List:

%F

L

=

h-Channels (Bottom)

CROSS COUNTRY
16Double Glass Panels

=3

I

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top)

Setting Blocks #8x3" S.S. Screws HOBBY AND CUSTOM

_ m GREENHOUSES




Page #66

STAGE 29D: ROOF END CAPS-
(16 MM DOUBLE GLASS)

STEPS:

8. LAY THE RIPPED CAP ON THE END RAFTER & GLAZING BAR
(CAP SHOULD SIT TIGHT TO THE GUTTER)

9. SECURE THE CAP TO THE GLAZING BAR.

REPEAT FOR ALL CORNERS

CONTINUE ON NEXT PAGE

Typical Ripped Glazing Cap
(Roof)

Square Cut
on top.

Square Cut
on bottom.

Parts List:

=

h-Channels (Bottom)

= e < L T

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top)

! S CROSS COUNTRY
16mm Double Glass Panels — ﬁ. 0@ GREENHOUSES

Setting Blocks #8x3" S.S. Screws HOBBY AND CUSTOM




Page #67

.m..\.b Qm Nmm moo\n ﬁ.\n:u.m = Typical Glazing Cap
(16MM DOUBLE GLASS) Rasd
Square Cut
STEPS: on top.
10. LAY THE CAP ON THE GLAZING BAR (CAP SHOULD SIT TIGHT TO THE GUTTER)
11 SECURE THE CAP TO THE GLAZING BAR.
REPEAT FOR ALL REMAINING CAPS
Square Cut
on bottom.
11
|
u_@ﬁ
Parts List:
T “ ) CROSS COUNTRY
i Vo) GREENHOUSES

—J S | N _ h-Channels (Bottom)

16mm Double Glass Panels

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top)

Setting Blocks ~ #8x3" S.S. Screws

HOBBY AND CUSTOM




Page #68

PRO TIPS
R Peel paper from //nﬁ\mﬁ 7
Foam Tape e
Applying a drop of silicone to the
Setting Blocks before installing will
prevent them from sliding out of position.
2
STAGE 30A: SIDE WALL GLAZING - H-Channel {No Holes) __.
(16 MM DOUBLE GLASS) &
/ Inside Outside
STEPS: \
1. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE SIDE WALL GLAZING BARS . ! @ .
2. PLACE THE H-CHANNELS & SETTING BLOCKS ONTO THE TOP & BOTTOM OF A GLASS PANEL \T@, etting Blocks
“
CONTINUE ON NEXT PAGE | H-Channel (w/ Holes)
*WARNINGS* E
- DO NOT USE A CORDLESS DRILL DURING THIS STAGE- Do Not cover holes.
OVER-TIGHTENING THE SCREWS CAN
CAUSE THE GLASS TO SHATTER

_

_

1

Parts List:
T _ ! 7™ CROSS COUNTRY
o I o B T h-Channels (Bottor) i Tered Sl anels _ i V- | GREENHOUSES

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top) Setting Blocks #8 x3" S.S. Screws HOBBY AND CUSTOM




Page #69

STAGE 30B: SIDE WALL GLAZING -
(16 MM DOUBLE GLASS)

STEPS:

3. SLIP THE TOP OF THE GLASS PANEL BENEATH THE GUTTER.

4. PUSH THE BOTTOM OF THE GLASS PANEL INTO POSITION.

5. PUSH THE TOP H-CHANNEL UP UNTIL IT TOUCHES THE UNDERSIDE OF THE GUTTER.
REPEAT FOR ALL SIDE WALL GLAZING

CONTINUE ON NEXT PAGE

PRO TIPS

Start by glazing the 4 corners on the
side walls of the greenhouse.
This will help to square the frame from front to back.
Don't be afraid to shift the Frame as necessary.

Parts List:

= e < L T

=

h-Channels (Bottom)

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top)

16mm Tempered Glass Panels

=3

Setting Blocks

#8 x3" S.S. Screws

e

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM




Page #70

STAGE 30C: SIDE WALL CORNER CAPS -
(16 MM DOUBLE GLASS)

STEPS:

6. PRESS THE RIPPED CAP AGAINST THE GLAZING BAR & CORNER POST.

7. SECURE THE CAP TO THE GLAZING BAR.
REPEAT FOR ALL CORNERS

CONTINUE ON NEXT PAGE

*WARNINGS™*
- DO NOT USE A CORDLESS DRILL DURING THIS STAGE-
OVER-TIGHTENING THE SCREWS CAN
CAUSE THE GLASS TO SHATTER

All Glazing Caps are cut and punched
so that the holes will line up horizontalfy

if installed right side up.

Typical Ripped Glazing Cap
(Side Wall)

Square Cut
on top.

Square Cut
on bottom.

Parts List:

— = I L= i

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top)

B

h-Channels (Bottom)

16mm Tempered Glass Panels

—

Setting Blocks

I

#8 x3" S.S. Screws

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM




Page #71

8
All Side Wall Caps should sit flush on
top of the Base and be tight to the Guiter.
STAGE 30D: SIDE WALL GLAZING -
(16MM DOUBLE GLASS) —>
=
STEPS:
Typical Glazing Cap
8. PLACE THE CAP AGAINST THE GLASS PANEL (Side Wall)
9. SECURE THE CAP TO THE GLAZING BAR.
REPEAT FOR ALL REMAINING CAPS \\\\1.!;!,/ 7
AT Square Cut
_U WLW ” v on top.
=
N[ 4
Square Cut
on bottom.
9

—m =

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

=3

_ 1 i
™ [l I_”” h-Channels (Bottom) 16MM Double Glass Panels ﬁ. m

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top) Setting Blocks #8 x3" S.S. Screws




Page #72

STAGE 31A: GABLE GLAZING -
(16 MM DOUBLE GLASS)

STEPS:

1. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE SIDE WALL GLAZING BARS .
2. PLACE THE H-CHANNELS & SETTING BLOCKS ONTO THE TOP & BOTTOM OF A GLASS PANEL

CONTINUE ON NEXT PAGE

PRO TIPS

.%ﬂ -

Peel paper from
Foam Tape

LN ..\(m.,.v.uﬁwu
h-Channels for the top of the Gable Glass
are cut at angle on both ends

to match the roof pitch of the greenhouse.

\

m@

y

N\
%
L

= Setting Blocks

=— H-Channel (No Holes)

Inside Outside

H-Channel (w/ Holes)

Do Not cover holes.

Typical Glass Panel
(Gable Wall)

Angle Cut
Left to Right
on top.

Square Cut
on bottom.

Glazing Caps & h-Channels
will come packaged specific to their location in the greenhouse.
Open the Bundles only as you need them.

Parts List:

%

Glazing Caps

F

Glazing Caps (Ripped)

h-Channels (Top)

=

h-Channels (Bottom)

16mm Double Glass Panels

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

- |E

Setting Blocks #8 x3" S.S. Screws




Page #73

PRO TIPS
3 0%
: Start by glazing the 4 corners on the
. | NV gable walls of the greenhouse.
. This will help to square the frame from left to right.

STAGE 31B: GABLE GLAZING -

(16 MM DOUBLE GLASS)
STEPS:
3. SLIP THE TOP OF THE GLASS PANEL BENEATH THE END RAFTER.
4. PUSH THE BOTTOM OF THE GLASS PANEL INTO POSITION.
5. PUSH THE TOP H-CHANNEL UP UNTIL IT TOUCHES THE UNDERSIDE OF THE END RAFTER. 4
REPEAT FOR ALL ANGLE-CUT GABLE GLAZING
CONTINUE ON NEXT PAGE

%
I

Parts List:

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

A | g | .
)
—I L= N | S I_H h-Channels (Bottom) 16mm Double Glass Panels d. m

=3

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top) Setting Blocks #8x3" S.S. Screws




Page #74

STAGE 31C: BESIDE DOOR GLAZING -
(16 MM DOUBLE GLASS)

STEPS:

6. FILL THE GAP BETWEEN THE BASE & THE DOOR FRAME WITH CAULKING.

7. PLACE THE H-CHANNELS ONTO THE TOP, BOTTOM & ONE SIDE OF THE NARROW
GLASS PANELS INTENDED FOR BESIDE THE DOOR.

8. SLIP THE LONG H-CHANNELS INTO THE TRACK ON THE SIDE OF THE DOOR FRAME
& ROTATE INTO POSITION.

9. PUSH THE TOP H-CHANNEL UP UNTIL IT TOUCHES THE BOTTOM OF THE DOOR HEADER.

CONTINUE ON NEXT PAGE

° —

L

. e

%T H-Channel (No Holes)

<— Long H-Channel
Inside Outside

i

Co— N

Setting Blocks

‘?

7 H-Channel (No Holes)

@

!
Long H-Channel
{

<4
<=

~<— H-Channel (w/ Holes) %

H-Channel (w/ Holes)

%

Inside

Do Not cover holes.

I

Outside

PRO TIPS

packaged with the rest of the Door Frame installedy
during Stage 3 of the Assembly process.

Typical Polycarbonate
(Beside Door)

Square Cut
on top.

Square Cut
on bottom.

A e
Al

AN Ao

Parts List:

%F

L

h-Channels (Bottom)

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top)

16mm Double Glass Panels

—

Setting Blocks

CROSS COUNTRY
_ m GREENHOUSES

Caulking

I

&%kw: S.S. Screws HOBBY AND CUSTOM




Page #75

10

STAGE 31D: GABLE CORNER CAPS - —>
(16 MM DOUBLE GLASS)

STEPS:

Typical Ripped Glazing Cap

10. PRESS THE RIPPED CAP AGAINST THE GLAZING BAR & CORNER POST. (GaRie; el

11. SECURE THE CAP TO THE GLAZING BAR.

REPEAT FOR ALL CORNERS 1
- |l
CONTINUE ON NEXT PAGE \ U Angle Cut
Left to Right

V- | GREENHOUSES

HOBBY AND CUSTOM

[ 1 on top.
\\'//
Square Cut
on bottom.
11
E
{1
Parts List:
| | T _ _ CROSS COUNTRY

=T e N | S _ ” h-Channels (Bottom)

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top) Setting Blocks #8x3" S.5. Screws

16MM Double Glass Panels — .m,




Page #76

STAGE 31E: GABLE CAPS -
(16 MM DOUBLE GLASS)

STEPS:

12. PRESS THE CAP AGAINST THE GLAZING BAR.
13 SECURE THE CAP TO THE GLAZING BAR.

REPEAT FOR ALL REMAINING CAPS

Parts List:

12
. —>
Typical Glazing Cap
P (Gable Wall)
S| W
\\ "1 lr..-/
= Angle Cut
NL_[| 4 Left to Right
/ on top.
|
Square Cut
H .w on bottom.

- =

= e & L= T

Glazing Caps  Glazing Caps (Ripped) h-Channels (Top)

.IH 1 1

h-Channels (Bottom)

CROSS COUNTRY
GREENHOUSES

16mm Double Glass Panels

_ - I

Setting Blocks  #8x3" §.5. Screws HOBBY AND CUSTOM




Page #77

STAGE 32: SEALING -
(16 MM DOUBLE GLASS)

Ridge

}

N._-w__l.h

PRO TIPS

® CLEAR SILICONE (PROGLAZE) Ridge
@ COLORED CAULKING (TREMCO 830) (@) [9) ,_s

Vent

Slider

N__ Iw:

Sealants are best applied when warm
(Room temperature or better)

N:l.w_.

Gutter

/@xm#mﬂ
M: = W " WE/7

# Door Header

TOOL SEALANTS WITH A SOAPY GLOVED FINGER
OR A CAULK-SMOOTHING TOOL.

Parts List:

_ FROGLAZE _.m||| — THEMCO 830 —.I“..|||

Silicone Caulking

Caulking Gun

CROSS COUNTRY
W-| GREENHOUSES

HOBBY AND CUSTOM




Page #78

Back
Front
b~

__ﬁ“_____”__v

GLAZE & CAP THE ROOF IN ORDER FROM BACK TO FRONT AND THEN FRONT TO BACK.
COMPLETE ONE SIDE BEFORE BEGINNING THE NEXT.

Peel paper from
Foam Tape

k-

STAGE 33A: ROOF GLAZING -
(6MM SINGLE GLASS)

STEPS:

1. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE ROOF GLAZING BARS .
2. PLACE THE H-CHANNEL ONTO THE BOTTOM OF A GLASS PANEL

CONTINUE ON NEXT PAGE

Inside

-
-
&

PRO TIPS

Have one person working outside the greenhouse
and one on the inside to help fit the
glass panels into the Ridge.

Glazing Caps & h-Channels
will come packaged specific to their location in the greenhouse.

6mm Single Glass Panels

Open the Bundles only as you need them.
Parts List:
CROSS COUNTRY
— = | S — : i — m GREENHOUSES
Glazing Caps Glazing Caps (Ripped) h-Channels

#8 x3" S.5. Screws

HOBBY AND CUSTOM




Page #79

STAGE 33B: ROOF GLAZING -
(6MM SINGLE GLASS)

STEPS:
3.INSERT THE TOP OF THE GLASS PANEL INTO THE RIDGE.
4. INSERT THE H-CHANNEL AT THE BOTTOM OF THE PANEL INTO THE GUTTER.

REPEAT

5. INSERT THE TOP OF THE GLASS PANEL INTO THE VENT FRAME BOTTOM.
6. REPEAT STEP 4.

REPEAT

CONTINUE ON NEXT PAGE

Parts List:

HP P T

Glazing Caps Glazing Caps (Ripped) h-Channels

6mm Single Glass Panels

T

#8x3" S.S. Screws

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM




Page #80

STAGE 33C: ROOF END CAPS-
(6MM SINGLE GLASS)

STEPS:
7. LAY THE RIPPED CAP ON THE END GLAZING BAR AND TUCK

BENEATH THE END RAFTER.(CAP SHOULD SIT TIGHT TO THE GUTTER)
8. SECURE THE CAP TO THE GLAZING BAR.

REPEAT FOR ALL CORNERS

CONTINUE ON NEXT PAGE

T
[

T

—

=

Typical Ripped Glazing Cap
(Roof)

Square Cut
on top.

ﬁ

Square Cut
on bottom.

Parts List:

% Lﬁ T

Glazing Caps Glazing Caps (Ripped) h-Channels

6mm Single Glass Panels

T

#8x3" S.5. Screws

CROSS COUNTRY
_ m GREENHOUSES

HOBBY AND CUSTOM




Page #81

STAGE 33D: ROOF GLAZING -

Typical Glazing Cap
(Roof)
STEPS:
9. LAY THE CAP ON THE GLAZING BAR (CAP SHOULD SIT TIGHT TO THE GUTTER)
10. SECURE THE CAP TO THE GLAZING BAR.
REPEAT FOR ALL REMAINING ROOF CAPS
Square Cut
on top.
7 T
\ ﬁ ) |
/.I.I.\ V.
Square Cut
on bottom.

10 i
U
= = 2
CROSS COUNTRY
= = | N — . . i m GREENHOUSES
Glazing Caps Glazing Caps (Ripped) h-Channels Twinwall Polycarbonate Panels #8x 8" S.5. Screws — HOBBY AND CUSTOM




Page #82

PRO TIPS

._ nﬁ\mﬁ -

.N Peel paper from
Foam Tape

Your greenhouse will come with a glass map
showing the size and location of
every piece of glass.

STAGE 34A: SIDE WALL GLAZING -
(6MM SINGLE GLASS) 2

STEPS:
1. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE SIDE WALL GLAZING BARS .
2. PLACE THE H-CHANNEL ONTO THE TOP OF A GLASS PANEL Inside || Outside

CONTINUE ON NEXT PAGE

o

On hot days, you may find that the Glazing Foam is too sticky.
Spraying the foam with a light soapy water will make
installing the Glass easier.

Glazing Caps & h-Channels
will come packaged specific to their location in the greenhouse.
Open the Bundles only as you need them.

Parts List:

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

Glazing Caps Glazing Caps (Ripped) h-Channels 6mm Single Glass Panels #8x3" S.S. Screws




Page #83

nmo TIPS
3
Start by @..mw__:m the 4 corners on the
side walls of the greenhouse.
m This will help to square the frame from front to back.
Hv Don't be afraid to shift the Frame as necessary.
STAGE 34B: SIDE WALL GLAZING -
(6MM SINGLE GLASS)
STEPS:
3. SLIP THE TOP OF THE GLASS PANEL BENEATH THE GUTTER.
4. PUSH THE BOTTOM OF THE GLASS PANEL INTO POSITION.
5. PUSH THE TOP H-CHANNEL UP UNTIL IT TOUCHES THE UNDERSIDE OF THE GUTTER. 4
REPEAT FOR ALL SIDE WALL GLAZING
CONTINUE ON NEXT PAGE
il }

Parts List:

- - _m

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

Glazing Caps Ripped Glazing Caps h-Channels 6mm Single Glass Panels #8x3" S.S. Screws




Page #84

All Glazing Caps are cut and punched
so that the holes will line up horizontalfy
if installed right side up.

STAGE 34C: SIDE WALL CORNER CAPS -

(6MM SINGLE GLASS)
STEPS:
_— Typical Ripped Glazing Cap
6. TUCK THE TOP OF THE RIPPED CAP BENEATH THE GUTTER AND INSIDE THE CORMNER POST. (Side Wal)
7. SECURE THE CAP TO THE GLAZING BAR. :
REPEAT FOR ALL CORNERS
CONTINUE ON NEXT PAGE ™
Square Cut
| 0 on top.
“WARNING*
- DO NOT USE A CORDLESS DRILL DURING THIS STAGE- Sguare Cut
OVER-TIGHTENING THE SCREWS CAN ow bottom
CAUSE THE GLASS TO SHATTER '
7
(o —>

Parts List:

CROSS COUNTRY
o I i — _ _ V-] GREENHOUSES
[]

Glazing Caps Ripped Glazing Caps h-Channels 6mm Single Glass Panels #8x3" S.S. Screws HOBBY AND CUSTOM




Page #85

8
All Side Wall Caps should sit flush on
top of the Base and be tucked
underneath the gutter.
STAGE 34D: SIDE WALL CAPS -
(6MM 6MM SINGLE GLASS)
STEPS:
Typical Glazing Cap
8. TUCK THE TOP OF THE CAP BENEATH THE GUTTER. (Side Wall)
9. SECURE THE CAP TO THE GLAZING BAR.
REPEAT FOR ALL REMAINING CAPS \ e
T Square Cut
_U _ mwu on top.
N 4
/ e Z _
Square Cut
on bottom.
9

-

CROSS COUNTRY
o I i — _ _ V=] GREENHOUSES
[]

Glazing Caps Ripped Glazing Caps h-Channels 6mm Single Glass Panels #8x3" S.S. Screws

HOBBY AND CUSTOM

Parts List: _




Page #86

1 Peel paper from
Foam Tape

J%%v h-Channels for the top of the Glass

are cut at angle on both ends
to match the roof pitch of the greenhouse.

STAGE 35A: GABLE GLAZING -

(6MM SINGLE GLASS)
2
STEPS:
1. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE SIDE WALL GLAZING BARS . @
2. PLACE THE H-CHANNEL ONTO THE TOP OF A GLASS PANEL
CONTINUE ON NEXT PAGE
Inside || Outside /
Glazing Caps & h-Channels
will come packaged specific to their location in the greenhouse.
Open the Bundles only as you need them.
Parts List:
CROSS COUNTRY

— = | S — : _ i GREENHOUSES
Glazing Caps Glazing Caps (Ripped) h-Channels 6mm Single Glass Panels #8x3" S.S. Screws HOBBY AND CUSTOM




Page #87

STAGE 35B: GABLE GLAZING -
(6MM SINGLE GLASS)

STEPS:

3. SLIP THE TOP OF THE GLASS PANEL BENEATH THE END RAFTER.
4. PUSH THE BOTTOM OF THE GLASS PANEL INTO POSITION.
5. PUSH THE TOP H-CHANNEL UP UNTIL IT TOUCHES THE UNDERSIDE OF THE END RAFTER.

REPEAT FOR ALL ANGLE-CUT GABLE GLAZING =

6. FILL GAP BETWEEN THE BASE AND DOOR FRAME WITH CAULKING.
7. INSERT THE GLASS PANEL INTO THE SIDE OF THE DOOR FRAME AND

Start by glazing the 4 corners on the
gable walls of the greenhouse.
This will help to square the frame from left to right.
Don't be afraid to shift the Frame as necessary.

ROTATE IT INTO POSITION 5

CONTINUE ON NEXT PAGE

iz

iE F’%{

Parts List:

l%—

Glazing Caps

Glazing Caps (Ripped) h-Channels 6mm Single Glass Panels

Caulking

#8x3" S.S. Screws

CROSS COUNTRY
_ m GREENHOUSES

HOBBY AND CUSTOM




Page #88

STAGE 35C: GABLE CORNER CAPS -

(6MM SINGLE GLASS)
STEPS. Typical Ripped Glazing Cap
(Gable Wall)
8. TUCK THE TOP OF THE RIPPED CAP BENEATH THE END RAFTER AND INSIDE THE CORNER POST.
9. SECURE THE CAP TO THE GLAZING BAR.
REPEAT FOR ALL CORNERS
CONTINUE ON NEXT PAGE \—ﬁ\/ b:@..m Cut
L] X Left to Right
] on top.
d .
M Ff
SN~
Square Cut
on bottom.
9
i
Parts List:
CROSS COUNTRY

Glazing Caps Glazing Caps (Ripped) h-Channels 6mm Single Glass Panels #8x3" S.S. Screws

HOBBY AND CUSTOM




Page #89

10
STAGE 35D: GABLE CAPS -
(6MM SINGLE GLASS)
. Typical Glazing Cap
STEPS: (Gable Wall)
10. TUCK THE TOP OF THE CAP BENEATH THE END RAFTER.
11. SECURE THE CAP TO THE GLAZING BAR. v N
REPEAT FOR ALL REMAINING CAPS e
_U. Angle Cut
Left to Right
on top.
/ L/
Square Cut
H .N on bottom.
e ﬂvﬁﬁ —>
Parts List:
CROSS COUNTRY
Glazing Caps Glazing Caps (Ripped) h-Channels Twinwall Polycarbonate Panels #8x3" S.S. Screws HOBBY AND CUSTOM




Page #90

PRO TIPS

p

STAGE 36: SEALING - e CLEAR SILICONE (PROGLAZE) Ridge 100
(6MM SINGLE GLASS) e COLORED CAULKING (TREMCO 830) | op. ]
Ridge

|

on_ g Sealants are best applied when warm
(Room temperature or better)

N._-w__l.h

Vent
Slider

=

/Ame#mﬂ
M: = W " WE/7

Gutter
=— Door Header
o el
% e o @
NO
TOOL SEALANTS WITH A SOAPY GLOVED FINGER
OR A CAULK-SMOOTHING TOOL.
S CROSS COUNTRY
T V-] GREENHOUSES
Silicone Caulking Caulking Gun
HOBBY AND CUSTOM




Page #91

STAGE 37: STORM DOOR - SINGLE
(ALL GLAZING TYPES)

STEPS:

1. FIT THE STORM DOOR WITHIN THE DOOR FRAME.
2. RAISE THE DOOR AS HIGH AS IT WILL GO WITHIN THE DOOR FRAME &

INSTALL THE UPPERMOST #10 x 3" SCREWS IN THE TOP CORNERS.
3. INSTALL REMAINING SCREWS ON HINGE SIDE.
4. REMOVE PLASTIC CLIPS FROM THE NON-HINGE SIDE OF THE DOOR.

5. INSTALL #10 X 2" SCREWS ON NON-HINGE SIDE OF THE DOOR.

6. INSTALL #10 X 3" SCREWS ACROSS THE TOP OF THE DOOR.

7. CONNECT PLATE TO CLEAT WITH #8 X m__ SELF TAPPING SCREWS.

8. ATTACH CLEAT ASSEMBLY TO DOOR FRAME WITH 4" X 3" BOLTS & NUTS.

INSTALL THE DOOR HANDLE AS PER THE MANUFACTURERS INSTRUCTION.S
LOCATED IN THE BROWN CARDBOARD BOX CONTAINING THE HANDLE.

2
— L2/ 0/ 0

Lol Lleenil] — =T
_____________ /,zv\ .;u\ .Q(
o
S 5 6
LT T L
xm&@<m
= e— -
7 8
S A -
(] \_ — -

Parts List:

T e T

single Storm Door #10x4"5.5. Screws 4" x4 5.5, Bolt & Nut #8 x4" Self-Tapping Screws

CROSS COUNTRY
_ m GREENHOUSES

HOBBY AND CUSTOM




Page#f ACC. 1

Roof Vents must be slid in from the end of the Ridge
in order for them to fit properly once installed.

ACCESSORIES: ROOF VENT INSTALLATION
(ALL GLAZING TYPES)

STEPS:

1. REMOVE PRE-INSTALLED SCREWS FROM RIDGE.

2. SLIDE ROOF VENT(S) DOWN THE LENGTH OF THE RIDGE &
INTO POSITION ABOVE THE ROOF VENT SLIDERS.

3. REPLACE SCREWS REMOVED IN STEP 1.

ATTACH VENT OPENERS AS PER MANUFACTURERS INSTRUCTIONS.

Parts List:

Roof Vent(s) - Fully Assembied

HOBBY AND CUSTOM

CROSS COUNTRY
_ m GREENHOUSES




Page#t ACC. 2A

ACCESSORIES: ROOF VENT ASSEMBLY
(6MM TWINWALL POLYCARBONATE)

STEPS:
1. APPLY FOAM TAPE TO ALL GLAZING BARS.

2. INSERT (2) 2" x 2' BOLTS INTO EACH GLAZING BAR

3. SECURE GLAZING BARS TO VENT HINGE & VENT GUTTER.

4. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE GLAZING BARS .

5. MARK ONE OUTSIDE CORNER OF THE POLYCARBONATE PANELS WITH A FELT PEN.
6. PEEL THE FILM OFF BOTH SIDES OF THE POLYCARBONATE PANEL

CONTINUE ON NEXT PAGE

Foam Tape

e -
.\\\ i
-

\/
VENT GUTTER

m _m_ m RS
_ D¢fm,m.,/3/

@

Parts List:

*Note: Do NOT Remove the Dnﬁ‘\n\. %
sliders from glazing bar

Glazing Bars & Sliders Vent Gutter Glazing Bar Glazing Cap Vent Hinge

L' x3"Bolt & Nut  #8x 2" 5.5. Screws #8x3" 5.5 Screws  #8x3"S.S. Screws  #10x4" 5.5. Screws Silicone Foam Tape

: | 7 I _m

CROSS COUNTRY
=1 GREENHOUSES

HOBBY AND CUSTOM




Pagett ACC. 2B

ACCESSORIES: ROOF VENT
(6MM TWINWALL POLYCARBONATE

STEPS:

7. PLACE AN H-CHANNEL ONTO THE BOTTOM END OF EACH POLYCARBONATE PANEL.

8. INSERT THE POLYCARBONATE PANEL INTO THE VENT HINGE AND PRESS THE
H-CHANNEL INTO THE VENT GUTTER.

9. SECURE THE GLAZING CAPS TO THE GLAZING BARS.

10. SEAL THE ROOF VENT WITH SILICONE.

Parts List:

*Mote: Do NCT Remove the H\ .I"—_IJW g d. d. d... [FroeLizE }=—
sliders from glazing bar

Glazing Bars & Sliders Vent Gutter Glazing Bar Glazing Cap Vent Hinge h-Channels L0y 3" Bolt & Nut #8 x 2" 5.5. Screws

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

#8x3" 5.5, Screws #8x3"5.5 Screws #10x4" 5.5. Screws Silicone Foam Tape




Page#t ACC. 3A

Foam Tape

ACCESSORIES: ROOF VENT ASSEMBLY
(16 MM 5WALL POLYCARBONATE

STEPS:
REFER TO STAGE 19 FOR FOIL TAPE APPLICATION

1. APPLY FOAM TAPE TO ALL GLAZING BARS.

2. INSERT (2) 3" x m: BOLTS INTO EACH GLAZING BAR

3. SECURE GLAZING BARS TO VENT HINGE & VENT GUTTER.

4. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE ROOFL GLAZING BARS .
5. PEEL THE FILM OFF BOTH SIDES OF THE POLYCARBONATE PANEL

VENT GUTTER

6. ATTACH H-CHANNELS & SETTING BLOCKS.

CONTINUE ON NEXT PAGE 4 6

XT H-Channel (No Holes)

=

k.
Inside il Outside
\\.h
al

—~<— Setting Blocks

4

Lh
-

H-Channel (w/ Holes)

<N

Do Not cover holes.

Parts List:

*Note: Do NOT Remove the ?m\\ = — 7 d, d- [PROGLAZE J=—
sliders from glazing bar
—

Glazing Bars & Sliders Vent Gutter Glazing Bar Glazing Cap Vent Hinge h-Channels Setting Block 4" x 3" Bolt & Nut #8 x%" 5.5. Screws #10 x4" 5.5, Screws Silicone Foam Tape

_ a

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM




Pagett ACC. 3B

ACCESSORIES: ROOF VENT ASSEMBLY
(16 MM 5WALL POLYCARBONATE)

STEPS:

7. INSERT THE POLYCARBONATE PANEL INTO THE VENT HINGE AND PRESS THE
H-CHANNEL INTO THE VENT GUTTER.

8. SECURE THE GLAZING CAPS TO THE GLAZING BARS.

9. SEAL THE ROOF VENT WITH SILICONE.

Parts List:

H\ m CROSS COUNTRY
*MNote: Do NOT Remove the E L =||L I—H m Iﬂl__u_aomtﬁm = nmmm@mmmw 7 : m wm m Z —I_ Ocm m m
_ ,..w_i_wa __.w_: cc_vm_nm mm_. A — d. d-

HOBBY AND CUSTOM
Glazing Bars & Sliders Vent Gutter Glazing Bar Glazing Cap Vent Hinge h-Channels Setting Block 4" x 3" Bolt & Nut #8 x3" 5.5. Screws #10 x4" 5.5, Screws Silicone Foam Tape




Page# ACC. 4A

H Foam Tape N

ACCESSORIES: ROOF VENT ASSEMBLY
(3MM SINGLE GLASS)

VENT GLAZING BAR /W SLIDER

STEPS:

1. APPLY FOAM TAPE TO ALL GLAZING BARS.

2. INSERT (2) 2" x 2' BOLTS INTO EACH GLAZING BAR

3. SECURE GLAZING BARS TO VENT HINGE & VENT GUTTER.

4. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE GLAZING BARS .

CONTINUE ON NEXT PAGE

Parts List:

g mm mm S CROSS COUNTRY
*Mate: Do NOT Remove the |/l H\ Mﬁ e -3 d. .q dv [FroGiazE }=— @ 0% m wm m Z —I_ Ocm m m
sliders from glazing bar

HOBBY AND CUSTOM

Glazing Bars & Sliders Vent Gutter Glazing Bar Glazing Cap Vent Hinge " x3"Bolt & Nut  #8x4"5.5. Screws #8 x3" 5.5. Screws #10 x4" 5.5. Screws Silicone Foam Tape




Page# ACC. 4B

ACCESSORIES: ROOF VENT ASSEMBLY
(3MM SINGLE GLASS)

STEPS:

5. INSERT THE GLASS PANEL INTO THE VENT HINGE & GUTTER.
6. SECURE THE GLAZING CAPS TO THE GLAZING BARS.

7. SEAL THE ROOF VENT WITH SILICONE.

Parts List:

*Note: Do NOT Remove the H\u\\ .i"—H g
sliders from glazing bar

Glozing Bars & Sliders

Vent Gutter Glazing Bar Glazing Cap Vent Hinge h-Channels L0y 3" Bolt & Nut

#8 x 2" 5.5. Screws

#8x3" 5.5, Screws

T

#8x3"5.5 Screws

T

#10x4" 5.5. Screws

Silicone

Foam Tape

HOBBY AND CUSTOM

CROSS COUNTRY
_ m GREENHOUSES




Page# ACC. 5A

Foam Tape

ACCESSORIES: ROOF VENT ASSEMBLY
(6MM SINGLE GLASS)

STEPS:

1. APPLY FOAM TAPE TO ALL GLAZING BARS.

2. INSERT (2) 2" x 2' BOLTS INTO EACH GLAZING BAR

3. SECURE GLAZING BARS TO VENT HINGE & VENT GUTTER.

4. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE GLAZING BARS .

CONTINUE ON NEXT PAGE

Parts List:

“Note: Do NOT Remove the H\ = g d_ ] 7 (FraamE]=— -
sliders from glazing bar

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

Glazing Bars & Sliders Vent Gutter Glazing Bar Glazing Cap Vent Hinge h-Channels i x 3" Bolt & Nut

#8 x 2" 5.5. Screws #8x3" 5.5, Screws #8x3"5.5 Screws #10x4" 5.5. Screws Silicone Foam Tape




Page# ACC. 5B

ACCESSORIES: ROOF VENT ASSEMBLY
(6MM SINGLE GLASS)

STEPS:

5. PLACE AN H-CHANNEL ONTO THE BOTTOM END OF EACH GLASS PANEL.

6. INSERT THE GLASS PANEL INTO THE VENT HINGE AND PRESS THE
H-CHANNEL INTO THE VENT GUTTER.

7. SECURE THE GLAZING CAPS TO THE GLAZING BARS.

8. SEAL THE ROOF VENT WITH SILICONE.

Parts List:

Glazing Bars & Sliders Vent Gutter Glazing Bar Glazing Cap

*Mate: Do NOT Remove the H\u\\ .I"—_IJW
sliders from glazing bar

Vent Hinge

h-Channels

i x 3" Bolt & Nut

|

#8 x 2" 5.5. Screws

|

#8x3" 5.5, Screws

#8x3"5.5 Screws

T

#10x4" 5.5. Screws

Silicone

Foam Tape

CROSS COUNTRY
V- | GREENHOUSES

HOBBY AND CUSTOM




Page# ACC. 6A

Foam Tape

ACCESSORIES: ROOF VENT ASSEMBLY
(16 MM DOUBLE GLASS)

STEPS:
REFER TO STAGE 19 FOR FOIL TAPE APPLICATION

1. APPLY FOAM TAPE TO ALL GLAZING BARS.

2. INSERT (2) 3" x m: BOLTS INTO EACH GLAZING BAR

3. SECURE GLAZING BARS TO VENT HINGE & VENT GUTTER. S

4. PEEL THE BROWN PAPER FROM THE FOAM TAPE ON THE ROOFL GLAZING BARS . ) é\;. 4
m.r._.._upOII-OI)ZZm_.mwmm._l_._me_.OO_Am. ®

VENT GUTTER

CONTINUE ON NEXT PAGE 4

X

/ Inside fiil Qutside

—~<— Setting Blocks

J

o\

H-Channel (w/ Holes)

N

Do Not cover holes.

Parts List:

*Note: Do NOT Remove the ?m\\ = — 7 d, d- [PROGLAZE J=—
sliders from glazing bar
—

Glazing Bars & Sliders Vent Gutter Glazing Bar Glazing Cap Vent Hinge h-Channels Setting Block 4" x 3" Bolt & Nut #8 x%" 5.5. Screws #10 x4" 5.5, Screws Silicone Foam Tape

_ a

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM




Page# ACC. 6B

ACCESSORIES: ROOF VENT ASSEMBLY
(16 MM DOUBLE GLASS)

STEPS:

7. INSERT THE GLASS PANEL INTO THE VENT HINGE AND PRESS THE
H-CHANNEL INTO THE VENT GUTTER.

8. SECURE THE GLAZING CAPS TO THE GLAZING BARS.

9. SEAL THE ROOF VENT WITH SILICONE.

Parts List:

Awmm mmw mm S CROSS COUNTRY
,zc.—c.. Do NOT Remave the A Dnﬁ‘\a\a .i"—H I—H m ﬂ d- [PROGIAZE J=— @ 0% m wm m Z —I_ Ocm m m

—

HOBBY AND CUSTOM
Glazing Bars & Sliders Vent Gutter Glazing Bar Glazing Cap Vent Hinge h-Channels Setting Block 4" x 3" Bolt & Nut

#8 x3" 5.5. Screws #10 x4" 5.5, Screws Silicone Foam Tape




Page#t ACC. 7

STEPS:

REPEAT FOR REMAINING DIAGONAL BRACES

ACCESSORIES: SIDE DIAGONAL BRACES
(ALL GLAZING TYPES - COMMERCIAL)

1. REPLACE THE EXISTING 7" X 3" BOLT IN THE BASE AND REPLACE WITH 3" X 3" BOLT.
INSERT A m_. X " BOLT IN THE PRE-DRILLED GUTTER HOLE.
2. ATTACH DIAGONAL BRACE TO GUTTER & BASE AND SECURE WITH 3" NUTS.

PRO TIPS

.%1.

=Y A
Refer to the job specific drawings to

determine Location and Length
of your Diagonal Braces (if any).

Parts List:

L

Diagonal Brace (1"x 2" Angle)

uﬁ_____x.m

&

"5.S. Bolt & Nut

Diagonal Brace(s)

CROSS COUNTRY
_ m GREENHOUSES

HOBBY AND CUSTOM




Page#t ACC. 8

1
© 0 ®
Refer to the job specific drawings to
B determine Location and Length
of your Diagonal Braces (if any).
- >
ACCESSORIES: SIDE DIAGONAL BRACES —_— —_— —
(ALL GLAZING TYPES - STANDARD)
STEPS: o . miﬁ
1. REMOVE THE EXISTING 3" X 3" BOLTS IN THE BASE & GUTTER AND REPLACE WITH m._. X 3" BOLTS.
2. ATTACH DIAGONAL BRACE TO THE BASE & GUTTER AND SECURE WITH 3" NUTS.
REPEAT FOR REMAINING DIAGONAL BRACES
2

Parts List:

CROSS COUNTRY
[ 2 0 o _ m GREENHOUSES

Diagonal Brace (1'x 2" Angle) 4" x 3" 5.5 Bolt & Nut Diagonal Brace(s) HOBBY AND CUSTOM




Page # ACC 12A

ACCESSORIES: SINGLE STOREFRONT DOOR
(ALL GLAZING TYPES - STANDARD CAPPING)

STEPS:

|. REMOVE DOOR SLAB FROM DOOR FRAME BY DEPRESSING
THE PIN LOCATED INSIDE OF THE UPPER PIVOT.
2. SECURE THE DOOR HEADER TO THE PRE-ATTACHED GLAZING BARS

USING I" #8 SCREWS

3. ATTACH DOOR FRAME TO FRONT BASE USING

S X )" BOLTS & NUTS

RETURN TO PAGE #5 OF THE INSTRUCT ION MANUAL.

*ONCE GREENHOUSE IS FULLY GLAZED, REPLACE DOOR SLAB INTO FRAME.
*ATTACH CLOSER USING INSTRUCTION " 73004RJ" INCLUDED WITH CLOSER.
*KEY TO THE DOOR IS TAPED TO THE TOP OF THE DOOR SLAB.

*D-PULL HANDLE INSTRUCTION INCLUDED ON THE NEXT PAGE

OF THIS INSTRUCTION MANUAL.

Interior View

Interior View Exterior View

Storefront Doors are heavy.
Use 2 able-bodied people when moving or

disassembling

qumm_omﬁ_zqu_om

—

DEPRESS PIN
BY INSERTING
A NAIL OR DRILL BIT
INTO HOLE

Interior View

GLAZING
Bar

BasE H

L a7

PRE-ATTACHED GLAZING BARS

DooR SLAB

FPRE-DRILLED HOLES FOR: HANDLES

DEADBOLT

THRESHOLD

UeeER PivaT

=— DOOR FRAME

LoweR PivoT |\a

Parts List:

({Typical Single Storefront Door)

—

- 14" x 3" x&" Channel
1"x2 L.Jm_.._m _«IWQD_NQ fwy/ 1" x 2" Angle attoched)

if applicable

2" x 4" x £" Channel
{wy/ 1" x 2" Angle ottached)

if applicable Door Frame & Slab

o I

4" x1"S.S. Bolts & Nuts ~ #8x3" S.S. Screws

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM




— Page # ACC 12B

ACCESSORIES: D-PULL HANDLES
(ALL STOREFRONT DOORS)

STEPS:
|. SCREW BRASS PINS INTO OUTER HANDLE USING A FLAT BLADED SCREWDRIVER.

3. ATTACH THE INNER HANDLE TO THE BRASS PINS & TIGHTEN WITH AN ALLEN KEY

2.INSERT BRASS PINS INTO THE DOOR UNTIL THE HANDLE IS FLUSH WITH THE DOOR.

O m=—pn

Use as large of a Flat-Bladed Screwdriver

as possible. The pins are soft and the head
can strip if you use too small of a tool.

m
i
) =

L
)

Brass Pin (x2) Inner Handle Outer Handle

3mm Allan Key

—
o=t o

N SEPSFEN =

w . -
Inner Handle
-~
=Rl= —
e b <= H //l |/ )
Interior View Exterior View
Parts List:
(Typical Single Storefront Door)
. I CROSS COUNTRY
———1 ge——

GREENHOUSES

Flat Bladed Screw Driver HOBBY AND CUSTOM




— Page # ACC 13A

(ALL GLAZING TYPES)

ACCESSORIES: SINGLE SIDE VENT

STEPS:

OF THE SIDE VENT SILL.

USING /" X /5" BOLTS & NUTS.

Interior View

2. INSTALL THE DESIGNATED GLAZING MATERIAL FOR BELOW THE SIDE VENT.
3. ATTACH THE SIDE VENT SILL TO THE GREENHOUSE FRAME ON TOP OF THE GLAZING

BUT BELOW THE SLIDERS USING /" X /5" BOLTS & NUTS. SLIDERS SHOULD REST ON TOP

Exterior View

Interior View

Exterior View

I. ATTACH SLIDERS TO GLAZING BARS AT DESIRED HEIGHT_BEFORE ASSEMBLING GREENHOUSE FRAME.
TYPICAL HEIGHT IS 6" ABOVE THE FOUNDATION.

FINISH ASSEMBLING THE FRAME OF YOUR GREENHOUSE AND RETURN TO THIS STAGE
BEFORE BEGINNING YOUR GLAZING.

L. ATTACH THE SIDE VENT HEADER TO THE GREENHOUSE FRAME ON TOP OF THE SLIDERS

6émm Poly
6mm Glass

1 L
e V> 4l = i B,

= = R

_ _

L)

3mm Glass 6mm Poly 6mm Glass 16mm Glass  16mm Poly
3
| | E E
3mm Glass 6mm mo_;\ 6mm Glass  16mm Glass  16mm Poly
4
%_1 # le T %:_; #:_c
__ J __ :
d b it
3mm Glass 6mm Poly  6mm Glass  16mm Glass  16mm Poly

The Side Vent Sliders MUST be
installed before you begin glazing the greenhouse.
If you have trouble figuring out how to attach the
Sliders, look at your Roof Glazing Bars with the
Roof Vent Sliders pre-attached.

TR

ﬂ SIDE VENT HEADER

GLAZING Bar —= =— GLAZING BAR

==— SLIDER SLIDER =2

ﬁ SIDE VENT SiLL

Parts List:
m rm » Ea // 2 CROSS COUNTRY
- GREENHOUSES
Slider x 2 Slider x 2 Slider x 2 Side Vent Sill Side Vent Sill Side Vent Header Side Vent 74" x 75" S.S. Bolts & Nuts
(3mm Glass) (6mm Glass & Poly.)  (16mm Glass & Poly.) (6mm Polycarbonate) (All other glazing types) (All glazing types) (Pre-assembled) HOBBY AND CUSTOM




| Page # Acc 138

PRO TIPS

'
5 *

fle e . dE. 4

\« \« \« The Side Vent Sliders MUST be
7 ; installed before you begin glazing the greenhouse.

3mm Glass 6mm Poly  6mm Glass  16mm Glass  16mm Poly IEyou Bave woudib gl odt liow ioaiach U

b ﬁ.ﬁ,m,m..m. Om \ m.m .m.\ 2 Qh m .m. \ bm <m Z .ﬁ Sliders, look at your Roof Glazing Bars with the

Roof Vent Sliders pre-attached.
(ALL GLAZING TYPES)

STEPS: m

5. INSTALL THE DESIGNATED GLAZING MATERIAL FOR ABOVE THE SIDE VENT.
6. INSERT THE SIDE VENT ITSELF INTO THE CURL ON THE SIDE VENT HEADER
UNTIL IT IS EVENLY CENTERED. 1 |1 _

ATTACH THE SUPPLIED OPENER AS PER THE MANUFACTURERS INSTRUCTIONS.

Top View

Exterior View

Exterior View

Parts List:

3 . : B Lk a_ L NN : _m

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

Slider x 2 Slider x 2 Slider x 2 Side Vent Sill Side Vent Sill Side Vent Header Side Vent 74" x 75" S.S. Bolts & Nuts
(3mm Glass) (6mm Glass & Poly.)  (16mm Glass & Poly.) (6mm Polycarbonate) (All other glazing types) (All glazing types) (Pre-assembled)




— Page # ACC 14

L(x2) A(x2)

Any Electrical Component in your greenhouse
must be wired by a Qualified Professional

(ALL GLAZING TYPES)

in accordance with Local & State Regulations.

ACCESSORIES: INTAKE SHUTTER 5 BC Greenhouse Builders will not offer advice

on connecting Electrical Components.

STEPS:

I. INSERT (&) 4" X %" BOLTS INTO THE BACK SIDE OF THE APPROPRIATE GLAZING BARS.
[(2) IN EACH BAR]

2. FROM INSIDE THE GREENHOUSE, PLACE THE INTAKE SHUTTER IN THE APPROPRIATE LOCATION _HV
AND REST IT ON TOP OF THE BASE WHILE LINING UP THE BOLTS & PRE-DRILLED HOLES.

3. SECURE TO THE GLAZING BARS USING J," NUTS.
CONTINUE GLAZING ABOVE THE INTAKE SHUTTER AS NORMAL.

HAVE INTAKE SHUTTER CONNECTED & WIRED BY A QUALIFIED ELECTRICIAN .W

© (x2) ©(x 2)

Interior View Exterior View Exterior View Interior View Front View Back View

Parts List:

Intake Shutter

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM

Yi"x %" 8.S. Bolts & Nuts

, _ >




— Page # ACC 15

2
X (x 2)=) L (x2)
Any Electrical Component in your greenhouse
\ / \ must be wired by a Qualified Professional
in accordance with Local & State Regulations.
. BC Greenhouse Builders will not offer advice
\b ﬁmmwmom\mm mXI\D c.m.\- “LZ on connecting Electrical Components.
(3MM SINGLE GLASS, TWINWALL POLYCARBONATE
& 5WALL POLYCARBONATE)
/1
STEPS: N 8
DO NOT INSTALL THE EXHAUST FAN UNTIL YOU HAVE GAZED THE GREENHOUSE.
YOU WILL HAVE ONE PIECE OF GLAZING CUT TO ACCOMMODATE THE EXHAUST FAN. \\ \ 7
I. INSERT (&))" X %" BOLTS INTO THE BACK SIDE OF THE APPROPRIATE GLAZING BARS.
[(2) IN EACH BAR]
2. FROM INSIDE THE GREENHOQUSE, INSERT THE EXHAUST FAN THROUGH THE PRECUT FAN HOLE.
MOUNTING BRACKETS SHOULD COME PRE-ATTACHED TO THE FAN.
3. SECURE THE MOUNTING BRACKETS TO THE GLAZING BARS USING X" NUTS.
L. SEAL AROUND THE EXHAUST FAN WHERE IT PROTRUDES THROUGH THE GLAZING.
HAVE EXHAUST FAN CONNECTED & WIRED BY A QUALIFIED ELECTRICIAN
@ (x2) (x2)©®
/
/
Interior View Exterior View Interior View Front View Back View
Parts List:
CROSS COUNTRY
o GREENHOUSES
—_— HOBBY AND CUSTOM
Exhaust Fan " x %" S.S. Bolts & Nuts Silicone




— Page # ACC 16A

ACCESSORIES: EXHAUST FAN
(6MM SINGLE GLASS, 16 MM DOUBLE GLASS)

STEPS:
I. INSTALL THE APPROPRIATE GLASS PANEL DESIGNATED FOR BELOW THE FAN.

2. INSERT (&) /" X /2" BOLTS INTO THE BACK SIDE OF THE APPROPRIATE GLAZING BARS.
[(2) IN EACH BAR]

3. REST (2) SETTING BLOCKS ON TOP OF THE GLASS PANEL

4. FROM INSIDE THE GREENHOUSE, INSERT THE EXHAUST FAN BETWEEN THE GLAZING BARS
AND REST IT ON TOP OF THE SETTING BLOCKS WHILE CONNECTING TO THE BOLTS
INSTALLED IN STEP 2.

—

T

K (x 2)=)

L (x2)

/

/e |

Any Electrical Component in your greenhouse
must be wired by a Qualified Professional
in accordance with Local & State Regulations.
BC Greenhouse Builders will not offer advice
on connecting Electrical Components.

b of

{Double Glass Models)

/1/ 1k of
Interior View Exterior View 33_.__.9.‘. View Eront View Back View
Parts List:
CROSS COUNTRY
5 - GREENHOUSES
Setting Block HOBBY AND CUSTOM
Exhaust Fan Yi"x %" 8.S. Bolts & Nuts Silicone o




— Page # ACC 16B

5
© (x 2) ©(x2)
Depending on the Fan used and the style of
\ / \ Greenhouse, the filler beside the Fan could be
Glass, Aluminum or a combination of both.
. Refer to your job specific drawings to see
\b ﬁmmwmom\mm mXI\D c.m.\- “L 2 what material is being used for your Greenhouse.
(6MM SINGLE GLASS, 16 MM DOUBLE GLASS) 5
# 4
STEPS: m < m _H__V
5. SECURE THE FAN TO THE GLAZING BARS WITH %" NUTS. 7 7
6. INSTALL THE APPROPRIATE FILLERS ON EITHER SIDE OF THE FAN. \\ \ \\ \
7. CONTINUE GLAZING & CAPPING ABOVE THE FAN AS NORMAL.
8. SEAL AROUND THE EXHAUST FAN WHERE IT PROTRUDES THROUGH THE GLAZING.
HAVE EXHAUST FAN CONNECTED & WIRED BY A QUALIFIED ELECTRICIAN N /
(x2)
? ?

@

7 [—
/| —
/ I ¢
¥
/ —

Interior View Exterior View Interior View Eront View Back View
Parts List:
CROSS COUNTRY
5 - GREENHOUSES
- Setting Block HOBBY AND CUSTOM
Exhaust Fan Ya"x %" S.S. Bolts & Nuts Silicone (Double mmm Wodels)




— Page # ACC 17

ACCESSORIES: LOUVRES
(3MM SINGLE GLASS, 6MM SINGLE GLASS)

STEPS:

[. INSTALL THE APPROPRIATE GLASS PANEL DESIGNATED FOR BELOW THE LOUVRE.

2. FROM QUTSIDE THE GREENHOUSE, REST THE LOUVRE ON TOP OF THE GLASS PANEL.
3. INSTALL THE APPROPRIATE GLASS PANEL DESIGNATED FOR ABOVE THE LOUVRE.

L. SEAL ABOVE AND BELOW THE LOUVRE.

CONTINUE GLAZING AND CAPPING AS NORMAL. (LOUVRE WILL BE HELD IN PLACE WITH THE CAPS).

Interior View Interior View Exterior View Exterior View

/1]

/1]

/1]

LbA

/1]

/1/

/1/

/1/

/1]

Front View

Back View

Parts List:

Louvre Silicone

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM




— Page # ACC 18

ACCESSORIES: LOUVRES
(6MM POLY, 16 MM 5WALL POLY, 16 MM DOUBLE GLASS)

STEPS:

[. INSTALL THE APPROPRIATE GLAZING PANEL DESIGNATED FOR BELOW THE LOUVRE COMPLETE
WITH THE CORRECT H-CHANNEL.

2. FROM QUTSIDE THE GREENHOUSE, REST THE LOUVRE ON TOP OF THE H-CHANNEL.

3. INSTALL THE APPROPRIATE GLASS PANEL DESIGNATED FOR ABOVE THE LOUVRE COMPLETE
WITH THE CORRECT H-CHANNEL.

4. SEAL ABOVE AND BELOW THE LOUVRE.

Interior View Interior View Exterior View Exterior View

EXTERIOR

EXTERIOR
EXTERIOR

| ///

CONTINUE GLAZING AND CAPPING AS NORMAL. (LOUVRE WILL BE HELD IN PLACE WITH THE CAPS).

EXTERIOR

EXTERIOR

EXTERIOR

—\\\7

/1 /

/1]

/1]

Front View Back View

Parts List:

Louvre Silicone

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM




— Page # ACC 19

PRO TIPS

Don't rush when sealing your Joiners.
Take your time to ensure that the sealants
are properly applied and all gaps are filled.

Each Joiner should use about ¥, a tube of Spectrum2

1 2 3
T 3 ’
/1/ /1/ /1/
ACCESSORIES: JOINER BARS
(16 MM DOUBLE GLASS) 4 5
STEPS:
| INSTALL THE APPROPRIATE GLAZING PANEL DESIGNATED FOR BELOW THE JOINER
2. PLACE (2) SETTING BLOCKS ON TOP OF THE GLASS PANEL. — —>
5. PEEL THE BLUE TAPE FROM & SLIP THE INNER JOINER BEHIND THE GLASS PANEL AND REST IT T O
ON TOP OF THE SETTING BLOCKS.
4 8 5. PLACE (2) SETTING BLOCKS ON TOP OF THE JOINER AND INSTALL THE GLASS PANEL
DESIGNATED FOR ABOVE THE JOINER. /1 / /7 / /1 /
6. FILL THE GAP BETWEEN THE GLASS PANELS WITH SPECTRUMZ, LEAVING ENOUGH ROOM FOR
THE OUTER JOINER TO BE INSTALLED.
7. PEEL THE BLUE TAPE FROM & INSERT THE OUTER JOINER BETWEEN THE GLASS PANELS.
8. SECURE THE INNER & OUTER JOINERS TO EACH OTHER WITH (3) #6 X /4" SCREWS.
9. FILL THE INNER JOINER WITH SPECTRUM2. 6 7 I 8
10. INSERT THE VINYL SCREW COVER INTO THE INNER JOINER.
Il. SILICONE SEAL THE JOINERS TOP & BOTTOM. \
CONTINUE GLAZING AND CAPPING AS NORMAL. \ m_
/1] /1] /1]
9 10 I 11

/1]

~

-
~

PROGLAZE

pe— GLASS PaNEL

SILICONE SEAL

j=— |NNER JOINER

SETTING BLoCk

L) ScREW COVER
OUTER JOINER — i

SPECTRUMEZ

SETTING BLOCK

SILICONE SEAL

se— (L A5 PANEL

Exterior View Interior View

/1]
Interior View Exterior View Exterior View
{No Frame)
Parts List:
— __ _ — % — m _ PROGLASE —anll. _ Specrrum2 —MHL D
Outer Joiner Inner Joiner Screw Cover  #6 x %" Screws Silicone Spectrum2 Setting Block

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM




| Page # Acc 20

ACCESSORIES: JOINER BARS
(6MM SINGLE GLASS)

STEPS:

[. INSTALL THE APPROPRIATE GLAZING PANEL DESIGNATED FOR BELOW THE JOINER
2. PLACE (2) SETTING BLOCKS ON TOP OF THE GLASS PANEL.
3. PEEL THE BLUE TAPE FROM & SLIP THE INNER JOINER BEHIND THE GLASS PANEL AND REST IT

ON TOP OF THE SETTING BLOCKS.

~N o

. PLACE (2) SETTING BLOCKS ON TOP OF THE JOINER
. INSTALL THE GLASS PANEL DESIGNATED FOR ABOVE THE JOINER.

. PEEL THE BLUE TAPE FROM & INSERT THE OUTER JOINER BETWEEN THE GLASS PANELS.
. SILICONE SEAL THE JOINERS TOP & BOTTOM

CONTINUE GLAZING AND CAPPING AS NORMAL.

/1 /

EXTERIOR
P P 1
INTERIOR

~
~
~

PRO TIPS

N

Don't rush when sealing your Joiners.
Take your time to ensure that the sealants
are properly applied and all gaps are filled,
particularly in the Roof.

g I
/1/

/1]

/1]

Interior View

Exterior View
{No Frame)

Exterior View

/1]

SILICONE SEAL

SETTING BLOCK

INNER JCINER —3=

SETTING BLOCK

-Gl 4S5 FANEL

| [&=— OUTER JOINER

SILICONE SEaL

pe— GLASS FANEL

Exterior View

Interior View

Parts List:

—— [

PROGLALE —"

Outer Joiner Inner Joiner

Silicone

Setting Block

CROSS COUNTRY
GREENHOUSES

HOBBY AND CUSTOM




— Page # ACC 21A

PRO TIPS
1 7 2
7
7%
Side Base E]
e
/75
78 . .
7 When Gable Attaching a greenhouse, it is more
7 77 ; imperative than ever to ensure that your
k foundation is level and the building you are
Top View attaching to is perpendicular to the foundation.
ACCESSORIES: GABLEATTACHMENT 3 )
(ALL GLAZING TYPES - STANDARD CAPS) & \
\. . .
STEPS: \ 7 \\
COMPLETE STAGES [-5 OF THE INSTALLATION MANUAL FOR THE GABLE WALL —— v _Hv
THAT IS NOT CONNECTING TO THE EXISTING BUILDING. \\\ \\
7 7
I. ATTACH THE SIDE WALL OUTER BARS TO THE GREENHOUSE BASE \\\ \\\
USING %" X /5" BOLTS & NUTS. \\ \\
2. USING A 4' LEVEL, ENSURE THAT THE SIDE WALL OUTER BARS ARE VERTICAL /. /.
FRONT-TO-BACK AND LEFT-TO-RIGHT.
5. SECURE SIDE WALL OUTER BARS TO TO THE EXISTING BUILDING USING #8 x 2" SCREWS.
REPEAT FOR BOTH SIDES.
COMPLETE STAGE 6 & 7 OF THE INSTALLATION MANUAL. 4 \\
7
L. CAULK THE ENDS OF THE GUTTERS, BASE AND SIDE WALL OUTER BAR WHERE THEY \\. /7
BUTT AGAINST THE EXISTING BUILDING. o \‘
s
]
7
4
%
7
\ EXISTING BUILDING
SIDE WaLL QUTER Bars
-
= FOUNDATION
Parts List:
_ CROSS COUNTRY
e e ] A —_— 5 ] » O [mEme— GREENHOUSES
Glazing Outer Bar ~ Glazing Outer Bar ~ Glazing Outer Bar Glazing Bar Glazing Outer Bar  #8x2"S.S. Screw 1" x1"s.s. Bolts & Nuts ﬁwﬂq mM &H:&oﬁ Lag Bolt & Washer Caulking R il BT
(3mm Single Glass) (6mm Twinwall Poly.) (6mm Single Glass) (16mm Fivewall Poly.) ~ (16mm Double Glass) w/ Nut & Washer

(if applicable)




— Page # ACC 21B

5
%
8
v 3
Gutter \\m_
@ 17 77 . When Gable Attaching a greenhouse, it is more
\ imperative than ever to ensure that your
& foundation is level and the building you are
' attaching to is perpendicular to the foundation.
ACCESSORIES: GABLEATTACHMENT 6
-
(ALL GLAZING TYPES - STANDARD CAPS) i 0
STEPS: @ =
COMPLETE STAGE 8 OF THE INSTALLATION MANUAL FOR THE GABLE WALL
THAT IS NOT CONNECTING TO THE EXISTING BUILDING.
5. BOLT THE ROOF OUTER BARS TO THE GUTTERS USING Y," X % BOLTS & NUTS.
ALLOW THE ROOF QUTER BARS TO TOUCH AND SUPPORT EACH OTHER WHERE
THEY MEET AT THE PEAK. EXISTING BUILDING

RooF QUTER BARS

: SIDE WALL QUTER Bars
- Ve

€ FOUNDATION

COMPLETE STAGE 9 OF THE INSTALLATION MANUAL FOR THE GABLE WALL
THAT IS NOT CONNECTING TO THE EXISTING BUILDING.

6. FIT THE RIDGE BEAM BETWEEN THE ROOF OUTER BARS AND SECURE IT WITH
V" X )" BOLTS & NUTS.

7. VERIFY THAT THE RIDGE IS LEVEL.

8. SECURE ROOF OUTER BARS TO THE EXISTING BUILDING USING #8 X 2" SCREWS.

9. SECURE RIDGE TO EXISTING BUILDING USING SUPPLIED LAG BOLTS OR ANCHORS.

10. CAULK ROOF OUTER BARS & RIDGE AT EXISTING BUILDING

2

s

COMPLETE STAGES 10 & Il OF THE INSTALLATION MANUAL (IF APPLICABLE) Q &
: i Z

[I. SECURE THE PURLINS (IF APPLICABLE) TO THE EXISTING BUILDING USING SUPPLIED
LAG BOLTS OR ANCHORS

Parts List:
CROSS COUNTRY
e e ] A _ e o R GREENHOUSES
Glazing Outer Bar ~ Glazing Outer Bar ~ Glazing Outer Bar Glazing Bar Glazing Outer Bar  #8x 2"S.S. Screw 1" x1"s.s. Bolts & Nuts ﬁwﬂq mM &H:&oﬁ Lag Bolt & Washer Caulking R il BT
(3mm Single Glass) (6mm Twinwall Poly.) (6mm Single Glass) (16mm Fivewall Poly.) ~ (16mm Double Glass) W, \_w.:, y zﬂm er
if applicable,




i‘ Should you have questions along the way with your
W greenhouse installation, please call our Technical Support
5. line at 1-800-665-2124 or email info@greenhousestyle.com.

Join our Facebook page to share your success and ask
gardening related questions. But most of all please tag us
on Facebook @greenhousesgalore in photos! It's the best
compliment you can give us.

From all of us at Greenhouse Style Corporation, we wish
you many years of successful growing!

@0 Greenhouse Style

CORPORATION

Toll Free: 1-800-665-2124
Fax: 1-888-273-1251

info@greenhousestyle.com

www.greenhousestyle.com






